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3 MASN

FOPS aﬂcdweb

SOCIAL SCIENCE
GRimg muvwiuBSHL GO UL sTebTLg)
A} 9e9Cwn-Qeswi_fs B) Ceunr Qastmg s
C) ungsh-Cedr s D) wrgash-Ceengflé.

Child-centered family is known as
A)  Filio-centric | B) Philocentric
C)  Pater-centric D) Mater-centric.

Lp&aeir_subpien Lﬁlas#aﬂu.ma.u QUIT@'[BQJGU@ a8l ?

A) %@mné] FApaEID C = 2_cwey Gesfluy

B) efeusmy sapsd — Qgmfleomi L
C) Qsmnfldbeaiw Fepsid — eSleusmwibd

D) prefs sapsd - FLOWIWLILL L &)

Which one of the following is correctly matched ?

A) . Tribal society _— Food gathering

B)A Agrarian society — Technology

C) Industrial society — Agriculture
‘D) . Civilized society . e Religions.

Serau@euseuppien SESOD @@ GBI L spsnusdst anpaams w;bmjm
CQgmflerBlensoenwits uhBlu ysrefll elurhssner Csafading ?

A)  saps yenefuiwed B) &ps ammmiey
O serf Bapey opliey (peop. D)  eureomppy opliey (pevD.

Which of the following methods consists of the collection of data concerning the
living and working conditions of the people in a given community ?

A) Sog:ial statistics B)  Social survey

C) Caée study ' D) Historical method.
gsuﬂgﬁa_gbm SpUIY (IPsD 6T6HTLIgH eTalTeur 7

A) u'e:mum_'_@\ anr'rémm Spbey B) supas Foffenio LY

C) @m:rﬁwd) S im0 EILY D) geflwafls siemw gile.
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MASN o 4

What is the method of case study ?

A) Cultural microscopy B) Social microscopy

Cj Political microscopy 7 D) Individual microscopy.
5 sawnsbs@iy (penllsh setenw eisties ?

A)  esinenllams eniLenL WG B) Sehenin SN LW
C)  efesan gefldasamigug D) am&&nﬁngu.t@.
What is the nature of survey method ?

A) Quantitative B) Qualitative
‘ C) Désériptive D) Normative.
6. wesd HHS5S 2 RIS G&‘mﬂe‘s@l.b PUPRISHSSULIL.L. @ (PeHD

| A) Gafey QaunuuuLL. g6y (penp

B) sewsba(iy (e _

C) Cpharemwed peop

D) QGargenen (peop.

Syétematic collection of facts about péople is known as

A) sample method B) survey method

C) interview method D)  experiment method. ,
7. Oemsumensteunpyet 6131 sesfl BUT Spa) (PeNDEHE L SHSHE060 ?

A)  eaditsre grnnsd LKUUSEEG gILTeTsms  (PepuLBSSauSDHES
2 geflwine o_eveng: '

B) om Hapsdow gpoie Lnss (Pudlpg ‘ I
C) bs wmpuliled o6 o emriiaydhi@ eumiiNedenso
D) @ps weon smphuy Arédemanamw gealligseo.

Which of the following is not true in the case of study method as a source of data
collection ?

A) It helps in the formulation of hypothesis for further research studies
B) It makes intensive study if a case possible
C) In this method there are no chances of subjectivity

"D) The method avoids the problem of sampling.

x[4001]



5 MASN

8.  demeumeameupmuen Feps SemellHige (pempuwWled eflerruucquisd wsdles
siBuing QunmbHSng ?

A
B
<)
D)

pemseafich serelwmgleyuiisheonen -
urbgenellsd sevadwiniey

SiFBnen WweSHTElHTEns

U rmuEAEG LIS UGSl eGS0

In social survey, the questionnaire technigue cannot be applied if

A)

B)

]
D)

there is male illiteracy

there is widespread literacy
there is over-population

the area to be covered is vast.

9. Wemeumeusmeuhmyen sig seps HeellDs6 (PennéE QUIGESIS ?

A)

B)

C)

D)

Ba sepe Unsemeanaamen senLpleugnE rgellwns e ereng

Bz Prarsgdbed Lopn SHLbd SQuatssed o palurs

R.Geng)
Qg} UrTULS0HDS!
@g,j Fups WONHDSS6h Gurr&@a,mm sen(® fw Lgmél;ggj

Which one of the fo!lowmg does not apply to social survey ?

A}
B)
<)

D)

It can help in finding solution to social problems

1t is useful for administrators and planners

It is bias-free

It helps in knowing the trend of social changes.

10. ﬁsﬁrm@msmmﬂ)@m a3 sops JMIBS (WemmeE ClunmEETg ?

A)

B)

C)

D)

- x[%501]

Fops Nlrssemanssme LIGLILSNHE e selwns o 6teng |
Lésuﬂg,@mL_w Clorgs enrussnen a_sirml_éeélmg.j
;émmrrgpm Girssenenasmnen SiuugmnE e-sewns e_dieng
yPw ysirefl eflurmsener Geafuugh @ e gellwns edreng).
' [1401] . [‘Turn over



MASN . 6 -

Which of the following does not apply to social survey ?
A) It helps in the study of social problems

B) It covers whole human race

C) It helps in solving welfare problems

D) It helps in generating new data.

11. e wih saps obsevg e den QU SIPHS Fps bSO o eer Iy enewr
' SHmwesnpd Cewg Clansdlssin (peonsE

A) eanpuisnosv Sl(HLERTD B) emanGunanosv Smwamrbd
C) CGaprGuranwev Slmwewind D) Gapl gCrrsmnev Smwemb.

When a woman belonging to a higher social stratum marries a man of lower
social status, this kind of marriage is called

A) Hypergamous marriage B}  Hypogamous marriage: '
C) Homoga‘rnous marriage D) Heterogamous marriaéé.
12. @ wsfigs sei wenereSlul et &CargNaamen Smwennd Qebuyb (peop
A)  mrss-5Grred LineSlemaefl B} &Grireéd uneSiensesf
) gL issred LineSwnesre D)  mretr-SipLfiewmed LimeShwmeti_.

When a man marries his wife’s sisters it is called

A) non-sororal polygyny ' B) 'sororal polygyny
- C)  fraternal polyandry . ‘D)  non-fraternal polyandry.
13, LST WwewTb stetm L&D Spssam_abniet wrllenCu Seoene ?
A) asivdlGwr UG s B &G @nSwesr
C) mrsigen - ’D_) Gg,m_r'résh.

' Polygyny is not practised among the
A)  Eskimo tribes ' _ - B) Crow Indians
C) Nagas D) Todas.
14, Gupevel’ eretim eunigengulish ClLIn(peT etetien ?
A) Liswsflwimerebt . B) 3w
C)  semeveren D) | TEE8aTLIGHT,
'
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7 MASN

What:is the meaning of the word ‘famulus’ ?

A) | Servant B Slave

C) Master _ Di Friend.
15. geflé@Hbu ey épmg) Eeni_(penpulled o_eten KA

A idwr : B)  undleugnes

Q) . siQufssr D) ‘ Bonems.

The nuclear family is the prevailing norm in

A}. India : B)  Pakistan

C) - .U.S.A. D}  8ri Lanka.
16. Lﬂcbrm@msmmﬁ)gjm a8 Foi_ Q& w0uSSlen SamwwnEib ?

4) | gueea geflsdng o

B) : Fops urHIsTImU eflsSng!

C) Qendumbassms sfafsdins

D) QuruzsCGuréma thbu@ﬁg&lmg].

Which of the following is the dlsadvantage of joint famlly system ?

A) Provides leisure, 7 ' B) Provides soc1a1 security

C) Increases reproduct.lon - D) Promotes recreation.
17. Lﬂshm@msmmmgjm 618 n D &GO LUSS 6 @ emmosen ?

A)  Glungy smvwemp B) OQung Clensg

C) Glung @ewiser D) Glurg euflur@.

Whiich of the following is not the characteristic of joint fainily systen;l ?

A) Common kitchen | B) Common property

C) Common qualities D) Common worship,
18.  pefen sneogdles &GubU e.peayflameouilet IHDES apusgib arrenfl sg ?
A Quetmssfien oyEssvs | | B) aysmsafien oybsiug)

C)  swdwe o D) asveld.

X. . | Turn over



MASN 8

19.

20.

21.

Which is the main factor for the change in the family relationship in modern

times ?
A) Status of women : B} Status of men

C) Politics D)  Education,

s l_(Dé GO busFenen Lrdlé@n anrrenflgst \

A} sevedl, BaTLLILISESED, CGTHOIWWDIHEH

B) -l Fwsvd HSLWOTESSD, CuphesSpwLTE, p‘,sﬁsmmwmhgeb
C) uGssHse, FowEsrinlere Lunge, g)m,r!,nwasmmi.ong;m
D) ng_r“ru&ngsmb, EBrGen(p, -qu.(ﬁu.rrr.-

The factors that affect joint family include

A) education, urbanisation, industrialisation

B) sanskritisation, westernisation, modernisation
Q) rationalisation, seculaﬁsation, democratization
D) media, newspaper, radio.

g{p}ML_QJﬁ)QJSﬂ a1 sl Hé@HbusSle Apiy Seoened ?

A} EOoU ey bls Quflug |

B) geubleunm Hbu SenwiiiiheEb é@ SHEneva6hT |

C)  hou smesudt dls wiluremg afiunisse

D) @Owu puirse soGeoonmeEh Clung Fembweremy.

Which of the following is nat a.featl.llre of the joint family system ?

A) Family size is very large '

B) Each unit of the family has its own head

C)  The head of the family commands high respect

D}  The members have commeon kitchen.

Setreuheusmeudmiet 6181 SiHSSaieniL_ W (GsHTSSw ks 16060 2
A e vaflsafl_Bimphg Gany e wellgaflan L Cu wimuBE®

Bl @0 sigsuassslelmbg Caup @ sigisusiagdiofion Cus wrpu@ad

C)  @phemens® appsunm wrimuB 50
D)  @pHemes@ ehmeurm wrmieugy asi)m.

x[s001] (1301}



9 MASN

Which one of the.followin'g is not the characteristic of status ?
A) It changes from individual to individual _
B) It changes from office to office
C) 1t changes with the circumstances
D)  Itis not influenced by the circumstances.
22. SpeumelemeudHnie o1& BOSILL L ibsevg Beérene ?
A)  euug " B)  uneSlemb
C) &ﬁg_ﬂ | D) euguy.
Which of the foi}owing does not come under ascribed status ?
A) Age B) Sex '
C) Caste D) Cla_lss.

23. om wefligds @ran®@ g SBHE Cupul L ukig adegh Gurpg
: anu@d (prerur e Caameuuilel eSleneney steiteungy eapuiu@GL ?

A) LIMG I4HM)ISH60

B) uURaGsEpsE PoLCuw apuBib e

C) ukiEGsEps@GGCaGw o aigps@e gHuBL L,Feo
D) umdlen Conirey.

When people are to play two or more roles at one time that make incompatible
demands it results in

A)  role performance B)  inter-role conflict
C) intra-role éohﬂict : D)  role strain.
24 ClupUul L oibsevg) sTeUG)
A e® valismimLw Apudlsr siglusmL e gysmg
B) uweafizggées casr@sasuuc. Deneng
Q) | wry auflurs Qumsed
D) @@ weaflgsir Guarng Qups&nigwiane,

x (40601 { Turn over




MASN 10

28,

26.

Achieved status is one which is

A)  based on the birth of a person

B) thrust upon a person

C} inherited by a person

D)  obtained lby a person after struggle. :
BiHurneiles 518 wHMID eiEGLEOL'Y LpBHlw g,jrei)- srpSluseulr

A)  G.S.Emtuw B flevGe

C) C.H. gaedl 7 D) Quéggeuir & Guga.
The book “Caste and Class in India” was written by

A) G. 8. Ghurye B} Risley

C) C. H. Cooley : D) Maclver & Page.

uestmeneser penmuflen HApiy Suisdy

A)  Qsmfnyri dse Obesw nCrouliu sapasdsn SIS

B) feoudryssie sopsin |

O @pduswed

D) uelmenL i aidllig Fepsib.

The estate system is a feature. of

A) Post-industrial European society B) Feudal society

C} Indian society - D)  Ancient Egyptian society.

Spsaam ansHunsmas seueflés :

Fapmy (A): SUGUUDD FUpsLd 616ITLISG (h HDHLINET HEVE0H HE6Y.

smewnd (R):  sefloafllagismer s yLuesL e @ggﬁumm &nya;m
arerudledsnen.

&G P ierer @GBSI 1960 FMlwmsr sHermws Cosipls®

A)  (A) wvpme (R) @u‘sm@m &f, Cueb (R) esrug (A) Nh@ sMwnen
. eflen&sid

B} (A} whmits (R) @oem(®d &, Gmg}m (RJ csug (A} sﬁl;p@ shwrem
eSlen&: & 06060

C) (A} &, gemmed (R) seum
D) (A) seuml, oyeoned (R) &fl.

x[4001] -



11  MASN

Consider the following statements :

Assertion (A} : Classless society is either a myth or a dream.

Reason (R} : In no society, all individuals are placed on equal footing.
Now select your answer according to the coding scheme given below :

A) Both (A} and (R) are true and (R} is the correct explanation of (A}

B) Bofh (A) and (R} are true, but (R} is not the correct explanation of {4)
C)  (A}is true, but (R} is false

D) (A} is false, but (R} is true.

28. Sienaumaismaubmict 618 Faps au@Gusmu upHiu e_snmwullsomes 7

A) =& wgsriunho CarHoupen W |

B) s@deow utgsnsgs Qansen ey @ﬁuﬁ’@a}sﬁ o_shemen

C) emudenisensE wesms CaimbOgGUUSd s Bur® Peeme
D) e mulleniser SrusEnsE eNHLLWTeT an@mm MebtubHm b,
Which one of the following is not true about a social class ?

A) It is of secular origin

B}  There are class codes to protect status

C) Members have no restrictions on choice of religion

D) Members can adopt any profession of their liking.

29, S;bsassdmi_cuﬁ)r_msh a5l snfleow peSlsuenw Gehwsiicomeo ?

A)  QsMPOLWIOIZED WHNHID HSTBWIDISHE

B) oifGaus Gura@eurss snpenrige

C) rfwed srgemb '

D} B es5&d® Candems.

Which of the‘following has not weakened the céste system ?

A) Industrialization and urbanization

B) The quick means of transport

C) The Constitution

D)  The policy of reservation.

x[4001] | Turn over



MASN 12

30.

31.

32.

33.

34.

SpsaamaubmieT 616 GLUDILL (D66 HbSEVG 6060 ?

A)  GlumSwremi B) Heo&meunsngmi
C)  Symoewri D) © ws&HEG W
Which one of the following is not an achieved status ?

Al Engineq:f B} Landlord

C) - Brahmin ' D)  Priest.
QseuriiE Coes oL 8, wnhlossled oy Aeow Puhbsz suGuNwE ?
A) 1987 B) 1989

C) 1986 D) 1988.

The Telugu Desam Party was voted out of power iﬁ the state in
A) 1987 ‘ ' B) 1989

C) 1986 | D) 1988.

Qermauul L asgemen LiIghsalse OCswmg GCsessald oy dow
Slusse ? "

A) L@ wigsSe B)  ubg wrgggle

C) o wizsse D) geug wrssd.

In what time the Telugu Desam Party was voted to power after its formation ?
A) Eight months B) Ten months

C) Seven months D) Nine rnon_t:hs.

Qzeirig Coow sl aublunws Bmeuliud L g ?

A) wrirg 29, 1982 B) wrré 29, 1981

C)  euire 29, 1982 D)  euiped 29, 1981.

Telugu Desam Party was founded on

A) March 29, 1982 . B) March 29, 1981

C) April 29, 1982 D) April 29, 1981.

Bidu sbweflev sl d ( wrisdevl ) LU SLTbASSILLL S ?
A} 1966 B) 1964

C) 1962 D) 1960.

x[4001]



35.

36..

37.

38,

13 ~ MASN

The Communist Party of India ( Marxist ) was formed in

LA} 1966 B) 1964
Q) 1962 D} 1960.
Bipdlw abyyefeol. a:t...ﬁ FULO phanons sruQunng] QeweouL. gleundwg ?
A) 1941 B) 1943
C): 1944 D) 1942,
bpfnmunist Party of India started functioning legally from
A 1941 B) 1943
C) 1944 . .. D) 1942
QlFLUTSEGS G/ N(WPSSS B1YP Bauaunmb enpdsuubin
A) IpiTeuS G B) &sopas G
Q) Bellrs e D) meOIDe G-
Prqssure group is also known- as
A) interest group B) - social group
C) intensive group D}  welfare group.

Spsasinsupmiet aig QurgiaimLenw Gurmenngnrsdlen BHUNLY 6060 ?

A QurgieeLenn Qardiens QstemL spsmub CUIHSIMSIT amL
Quibpg . ,

B) Qungiayeni_enw Glansvens Clanssm Fipgrub Guu’ueﬂy_f)@l’ﬂm 56HEN e W
ClanemHetengna Hlepssiu . Heveng '

C) QurgieyemLenin Runmeng Ty sneverfl Wwi&6ls L (D s

Clanesorig mLLEleoened

¥

D) ; ClunglayemLen CILINhHETISITD QENHNUSE S5 DUIEDL 6.

Which of the following is not the merit of socialist economy ?

A) Socialist societies are more economically efficient
B) Socialist societies have proved to be imperialist
C) Socialist economies do not have colonial markets
D)  Socialist economies are more democratic.

dlstreumeusneunmien sig Seupnegy ?

A)  QurgieyenL_enwé Qareienasulles  mpbsensuysten SFpsTusSe
QungiamL_emwé Clarsr o Hugd Lopgjm BT ATE)

B} gefl o emLemwndiE Db B

C) swwgdlen unig Be GHmparang)

‘D), soflwefgsn Qunmerrgrr Qewsraanen &iC L BB F6v.

x {4001 ] [ Turn over



MASN 14 |

39.

40.

41.

Which of the following is not true ?

A) In a socialist economy there is a common ownership of the means of
production and distribution

B)  No scope for private property
C) Religions play insigniﬁcaht role
D} Economic activities are planned by the individual.

S Fpssde o Husd wHnb LRELG afpempas gefluul L gmeafiib.
Boeonoed QUNFIQIBL MDWNE STERLLLL IS HS QUImHSTTSIT jenbliy

.................... sremIL(ib.
Al mempmusD - B) QungieymLemwsd Clandiens
C) Waeoneallsgiaun D)  Yirysgisuwb.

A type of economy in which the means of production and distribution in a
society are collectively rather than privately owned is

A) Democracy B) Socialism

Q) Capitalism ‘D) Feudalism.
Spssau_supmniet 618 (eeonsfisgieusdler 2 amenw ﬁlms\) Sisvev ?
A waeorallsgieund Qgmnflonaflamer gum srsin_sllcane

B seonafiggiounn @eorusHneb cspéseﬂwg@mm Clar@ss wHpb G
Lwgn & Seuableiento

C)  @pseonsflggieud ng@mnmft Fruss et lﬁlg)ﬁmu SudwwrsGdns
D) Gemgssngi Prubs wenmba Cewdudw Hlene.

Which of the following is not true of Capitalism ?

A) Capitalism does not lead to labour exploitation
B) Capitalism overemphasises profits and neglects group interst
C)  Capitalism necessitates the birth of labour union

D)  Ownership becomes somewhat anonymous here.
Caflw shangs@b LHNID 2 06 FhHhenaghEbe 6Ten GClGT_iL| 6TesLIg)
A)  SITIETOWIDIGHSE B) gsuﬂu;mr'r LOWILDIT (6D

C)  2_e0&LWLNEGSHE D) @eupmiet sigieyBevems.

x '
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The linkage of the nation’s market with the global market is called
A} | Liberalisation B)  Privatisation
C) . Globalisation D) Noﬁe of these.

Spdu HlLsey. abs ufllbgimrssiul L em' L sesg Copaneusefisn
SigLitemLulled upiemwsGaniigemean aemrump Claugiderg ?

A) 2400 aGeorfl dlymogHed 2 een qp wallsgnsE m Brmmed Coma,
2100 &sGeunfl pargSed e eiten @y waflgEusE U BreamsE Csmeu

B) 2300 &Georfl dlymosded e.cen m LallsamIsE Q@ BrameeE Cameu,
2200 sCenfl parsded e cven g wellgmisE @@ pranase GCoemeu

C) 2000 &Geonfl Hyringdled o dven @ wallzENHEG @ BrevamsE Csameu,
2100 aGenfl Barsdled echen om walis@sE SO Erenens@ GCzene

D) @eauppisr agia)blcome.

The Indian Planning Commission has defined povery line on the basis' of
recommended nutritional requirement of

A 2400 calories per person per day for rural areas, 2100 calories per person

.per day for urban areas

- B) 2300 calories per person per day for rural areas, 2200 calories per person

per day for urbai'_x areas

C), 2000 calories per person per day for rural areas, 2100 caloriés per person
per day for urban areas

D}  None of these.

Sereumeusmeupmist ety geflwaiowid Geupf GupieushEe (WaHwwres
Gaeneu ? :

A) guu;rﬁsnmtumrr@gsi) B} 2 e0&LWWLNEGSH
C) - ushETTL (R ioWIDTSE D)  Heneu syemensgid.

Which of the following is an essential pre-requisite for a successful
privatisation ?

A) ' Liberalisation B}  Globalisation

C) Internationalisation D}  All of these.

x [4001] ' f Turn over
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‘44, @indwrelley yFlw QunmeisTrs  Csrdlens Lhsed  gIril  epedd
aellerwuuBSS UL e
A} 1994 B) 1992
C) 1995 D} 1993

India’s New Economic Policies were further strengthened when India signed the
Dunkel Draft in

A) 1994 | B) 1992
) 1995 D) 1993.
45. ICOR sistrugy
A) 3436\) e o6 Bipaermsasflss e hussl Sopsr aldsw
B) @z wpevgen e pusd Siper eSdsib A
C) Sipssb Sidewnear apeogen 2 hiisd Spetr el
D} Beweu senenssin.
What is ICOR ?
A) International Company Output Ratio
B) Int;remental Capital Output Ratio
C) Intensive Capital Output Ratio
D) All of these.
46.  Slenaumeussuhmiet 618 o nenioweded 7
Cungisgienn Hnieenmas 'u,r_r')gjhu ir&osmemgefled
A)  efemev ,[f,lr’rmu.lés‘Qa;rrs'rrmes |
Bl  ©@ompis Sieney Gmmméﬁlms‘m LussbrLn(p
C) siflawnen WpsedH
D)  snwonssst/e usremriser Bgleten Simemblés sl B LUM®
Which of the following is not true ? |
The problem of the public sector is
A) pricing policy B)  under-utilisation of capacity

C)  over-capitalisation S D} . efficient control over inventory.

x [4001] . [ao1]
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47. @Lu&@@mnmg\] CrieSlny Lﬂsrrnsur (pEODENUI g@@&uu@ggmgm@&m sib 5
gggg,nm‘r@ S gdemen o5 HeopausoLw @@ a@mh-b msew CurGg
Poiss Siorefigss ?

A} premsneug MbHIETHS S b
B) @remneug mbsram@id S Lib
C): dpompreugl misTIMGS Hib
D) ?ﬁ,gum@ mgnsiﬁ(ag, S b,

The Pl%mning Commission decided to terminate one of the Five-Year Plans by
one year in advance with “Rolling Plan” concept is '

A) Fourth Five-Year Plan B) Second Five-Year Plan
Q) Third Five-Year Plan D)  Fifth Five-Year Plan.

48. Nemeumeusmeupmisi  61F (W  @hsTam®s Sl sdlen  psdwuone
GM&ECsner Beveney ?
A) frawmimbd 2 sl Gurrrﬂsms\) shulL swflene Qeveons Qun@mngmy :
 Beneoemnw Heuirgd Qlsuieug B
B) Quumemngny uswrelsssSlen Gunés@ja&]g,gsb
C)  Brige clemgeaunsm  QEMBOLWLISNSE gLl mﬁ)gjtb
' epeusblsTfians@ pasdussianb GsrHuius
D) LIS SMmIen L FnHlmeaulsend @amnsse.
Which one of the following is not the main olbjective of the first Five-Year Plan ?

A)  Correcting the disequilibrium in the economy caused by the Second World

War
B) Combating the inflationary tendencies in the economy
C) Rapid industrialization of the country with particular emphasis on the

‘development of basic and key industries
D) Reduction of inequalities of income.

49. epussdl seaflvells esusnd wvHmbw eoruses Gesfliug Wsdw
Qur@emngry Glewsins Qe @O ClUNGMISNT sums

A) = pgeoneflggieund B) &wsiws Glarsnems

C) memmusk D)  Ulrysgieud.

.x[4000] . { Turn over
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A type of economy in which the means of production are largely in private hands
and the main incentive for economic activity is the accumulation of profits.’ It is

A) Capitalism - B) Socialism
C}  Democracy D) Feudalism.
50. &psscau arsdwnisames soaeflsas :

sahmi (A):  epshipreug mbsisn®s S b Corialuiied apirbsg. Cugin
' sisgiempuign Beoddlenen gemLw (piquisiisoaney.

snyewnd (R):  eflenevulistr 2 witey eam&@enpw 25% sgeigw e wihsg).
ECp GBI Bener P60 shuinen eflenr.enws Caibols®
A) - (A)wpmyb (R} Bres(w s
B (4)ef wppid (R) sep
Q) (A)Beums wHmID (R) &M
D) (A)wHmb (R} BreterBHid Seugy.
Consider the followiﬁg statements :

Assertion (A): The Third Five-Year Plan resulted in a big failure and the targets
could not be achieved in any field.

Reason (R} : The prices increased by nearly 25 per cent. ‘
Now select your answer according to the coding scheme given below :
A) . Both (A} and (R) are true |

" B)  (A}is true, but (R} is false
C) ' {A)is false, but (R) is true

D) Both (A} and (R} are false.

51. demeuueusmeupdies - &g Pesfrflmss BL UG &SNS
smHsUUD S soener ?

A} @ wenpullsd efleusmuin Clgiuiged

B) @eLssreiseme ol

C) eﬂsu&nu.léh SHL_6lr

D}  fHeo L&&mutﬁq.

Which one of the following is not considered as land reform measure ?

A)  Co-operative farmirig B)  Abolition of intermediaries

C)  Agricultural credit D)  Ceilings on land-holdings.



52.

53.
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sutdlysiv Ceusnneairenin Figmss sl g nbiss eumHL 1D
A 1950 B} 1947
Q) 1948 D} 1949
The Congress Agrarian Reforms Committee was constituted in the year
A} 1950 B) 1947
C) 1948 D) 1849,
SpEser sapmisemeT LIS -
fleo Fiflmssnd serg

L Qurmenngny, edeusnw Hpeusmusens wenGemppieug

I fleo Fiflmssw sesrug walsasE, Qm;ﬁm@m o ehen 2 Mmemeu
wahHB Hewwiug) -

‘M. feo Sflmssd asrug feo o femwpaamenybd, GHSsHSmWU|LD
udlinbgefiaug,

v. fleo fidlmssd aug GSsme, ddausnubd sl Biney Bpisusnb,
slleusmw sLsr Peup bl GPpHenevaenet penGanppueg.

Beuppyer :
A) 1wl @b eflwureng B) 1wpmpib Il slwrswenes
C) I whmb IV sfwrerene D) siemanggin sAwneneme.
Consider the following statements :
Land reform means |

I.  improvement of agriculture-economic institutions

II. a planned and institutional re-organisation of the relation between
man and land

II.- conferment of ownership rights on tenants and redistribution of land

IV. improvement of the conditions of tenancy, agricultural credit,
co-operative organisation.

Of these
A) ! alone is correct B)  Iand III are correct
Q) Il and IV are correct _ D)  All are correct.

| X- {(1401] . [’I\Jmover.
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54. flev FidmsssHen pa&w Crrésbd wrg ?
A) EBrksr eumoremd B) @muﬁ,g,n&ﬁa&mm Bluwiblg g6
C)  Heomsemen udihsaflssdo D) eenpuy BiFsLLBSSHIC.
Which of the following is an objective of land reform ?
A) Fixed revenue B) Appointment of ihtermediaries
C) Redistribution D) Labour saving.
55.  u&smin L4]I-]'l'_é] Lpeuevis @mmn@ St L g
A Qped yred B) GasWlenes Lri_é
C)  Cenents yrid D) Gengienw Yyl él.
Green revolution is often referred to as
A)  Rice revolution B) Tea revolution
C) Maize revolution D) Wheat revc;lution.
56. Bidwunelled s LTS e (heuTeugh@ SNTeToNe Snrewd]
A e Siflmss HLsden Qaupp
B) gphgran® Sl gdlen siflepen
C)  adle epHusd smid elﬁlmgasmsn 2 LQGundlss6d
D} o_emwiay ugb;nﬁés@m;p whHmb 2 ewreyl UL senen @né@ g ClFuige.
The factor contributed to Green revolution in India is
A).  the success in land reform measures |
B) iﬁtroductz'on of Five~Year Plans
C) the use of h;'gh-yielding varieties of seeds
D) food shortage and importing of food.

57. o ewmeyls  QuHLSemen ;f,]sug,ej,]su Sidlsbd e phussl OCsdeug wHML
Brseodaowu  whhgwis Hpssass  Judusms  LESEHSE
e eTiggieugst ClurGBL@® “epusdl el eeng fibs Gun”  sep
WPYsesems 2 (Heunsdwieui wni ? '

A)  eomed LUSGNT Faevdlf ' B) wargwon snpd
C)  uetorgl G,rf,@ - D) gmzmugdl.

x{3001
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Green revolution means _ ; 7 ‘ -
A} increésing agricultural products & - ; .
B} increasing farm products :
C) increasing industrial products 1
_ D). increasing cottage industrial products. ‘?
- 61, #FiuGse sal 06y snlL sl ﬁnrﬂausio EenL Glupm QL_LB ?"‘ﬁ
A)  wrenQseL i B)  wwrebngfuwed %
C) gmmfuasnriu _ ' D) RAupwnis. l*
The International Co-operative Alliance Congress was held in _ f’
A)  Manchester B) . Montreal | ; .
C) Hong Kong . D) New York. SR
62. £Q$ésﬁm_ sunsBwisenons seucllss : ;

spml (A): . Fml(@pe] LHDID Sl FhsSSlen (_gpd,&m
Armonisefics Geapid L igH GeLwLL Mo p_shsn

wnrsuwh (R): &gmo Hieurs  sal Gmey whmb sk emagglsmf Gmm"‘

Ireus sL_G LU Séemen.
mg; @;ﬂunﬁ]g@mm @gS]uS'L.Lq.m Fhlwren eSlen_anws Ggﬁ_rb@g,@

i
5

A) (A} whpb (R) Busse@b efl, Cuogubd (R) ashugj (A) sﬂm@, alﬂu.mm

sﬁ]mdsasm §
B) (A) wvhpiw (R) @ran@o s, (Bmgmn (R) eistTLg) (A) sﬁ]m@% Fflwnen
eflendss06de0 ‘{ .
C)  (A) of, gyewmsd (R) seupl %f&
D) (A) seum). syemed (R) &f). g =
Consider the following statements : ' : e :

.....

Assertion (A} : Main objective of co-operative credit societies in rural areas

remains unfulfilled. § A

Reason (R):  There is lack of government control over rural co- operatxve credit
societies. . _

Now select your answer according to the coding scheme given below :_)f-
A} Both (A} and (R) are true and (R) is the correct explanation of (A”;

B) -Bpth (A) and (R} are true, but (R} is not the correct eicplanation %f }A} 4

-«

C) {A) is true, but (R} is false {.
D)  (A)is false, but (R)is true. ' %-= -
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Who coined the slogan of “produce or perish” to insist the need for producing
more at the farm and stopping imported foodgrains ?

A) Lal Bahadur Shastri B) Mahatma Gandhi
C) Pandit Nehru D)}  Rajaji.

neEemw yre e vwennaflagnsE ds Lg)ugﬁ S Ll auenasenet
GlwsfCarelled Dmba Mfpasru@sHug wnr ?

A} geuppheorsd Cem B) @pdrransd
C) mleu snpd | D) C.surwenflun.

Who introduced the Highryielding variety { HYV ) from Mexico to user in Green
revolution ?

A) - Jawaharlal Nehru © B) Indira Gandhi

C) joiv Gandhi D) C. Subramaniam.
snign Grligeu 1 .m;bg;utb gmnbgn CrLligeu 2 srehruemey

A)  ydw auems Canguenwo ellengsch

B) yduw s Qpe ellensssh

Cl} ydw euemns Coremd ellsmgaen

D} yfw cuemns sy elengame.

Taichung Native 1 and Taichung Native 2 are

A) new varieties of wheat seeds
B) new varieties of paddy seeds |
QC) ‘ new varieties of jowar seeds
D) new varieties of bajra seeds.

usenw Yol g aeniu@etg

A) feustw elemer Glun@mL senen HHlafEs60

B} uewemenr Qunmsissnen ofafsse

C)  Qsnfiherene QuimLamer Hahsse

D) @yenes Qsnfiperame Qurmsenm oifafssed.
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: 63. m;@meq Pmreusniseflen Lk, @pﬁ\)g,mgﬂs\) u:mﬁlso - B TS 6T uliuGa&p&eom.b
_ ﬂm@jasrg,g Gpsuned LfibHIenIssILILLg ?
A) erm-(ama{ S LsGW
B) . a;éilsu BuSws é]mrmuu_up SL_6tv unﬂ&mmm &SP .
- C) eﬂlrruo& Sl_6it QIO B
D) @w S wsss G-
* Whlch* committee made the recommendation to the State’ Governments to 7
‘5 pa.rucx?ate in the share capital of co-operatives ?
A) The Co-operative Plahning Committee
B} éll In_dia Ruré] Cfedit Review Commilttee
C) | i_l§ura_l Credit Survey Committee
D) - Land Reform Committee.
64. Gs\g_ei'm?‘%ﬁmmm sLen wn) frnie; Gupsle geneveut wri ? _
A) - a St Cpemi .. B) . T ¢mb, @Gh)@n'n
| é) ' inqcﬁrmmﬁm Wy ) " D) e Qsm‘.luff
) Who 1s§the Cha:rman of Ag1:1cu1ture Credit Rev1ew Committee ?
. A) A R. Desai : - B) A. M. Khusro
: | C) . Lord Cornwallis D} Max Weber
: 4 . 65, '[BI_III‘I?@%U!'EI&I TS UMHLID 2 HAIMGSILL LS -?
A 1986 | B) 1992
C) 1?824 o D) 1996.
) NABARD was established in the year
-~ A 1"39'86 : B) 1992
Cr 1982 D) 1996.
; " 66. suu.lg] e‘u;ﬁ@gm‘r Qustors e Qg,ngﬂm uufﬂ,li)eﬁmlu S ss ,@I'IGI.IN&LD
. A um,@su sps pRSgIOD sunfluh
B) ‘;'mnﬁ,]m S HOSHIND
C): - uag,ﬁlu.l Feps HOVSGIOD eunflwnd
D) étﬂ@lbﬁﬁﬁ wrles oire.
- x[4001] i | . [1401] [Turn_'over
b
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“Vocational tra.ining for Adult women” was started'by
A) State Social ngfare Board
B)  State Social Welfare 'Departrﬁent
C) Central Social Welfart; Board
D)  Tamil Nadu State Government.
67. dlev zo0s Qusﬂw&sh. Slembd Q&nsﬂmunuﬁQ@& EeT
A)  egeweufl, 5 B}  euge, 4
C) wmé& 8 D) gg9emev, 7.
Which day is celebrated as “International Women'’s Day”?
A) January, 5 B) April, 4
C} March, 8 D) July,l 7.

68. grdwusenwliler by asrsg -Ber UMD o stenr Sl giemwysafled
QuenaEnsE apsifled @@ LkEG BLIb EHISaILLLE ?

A) aBTSGl 72 B) eayrés 74

C) eo3rH6m 164 . D) o375 73.

Which Article of the Constitution reserved one third seats for woﬁen in local
bodiés ? |

A) Article 72 B)  Article 74

| C) Article 164 ‘ D)  Arficle 73.
69. Qg semes wQWETF FL_L1b GHURSSLILL L. eu@mLIb
A 1955 B} 1856
C) 1953 D)  1950.

Hindu Widow Remarriage Act was enacted in
A) 1955 ' B) 1856

C) 1953 o D)  1950.

x[4001] . [1401]
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@@ Qusd'o'rswﬂg)@, &m@ml_u.l shangllsn Corgdler seust sCarzrenss
ammnsm 2 fleowwn wHDIL M smause SugpoLw Zobs Curen
it amrmrﬂsbr Clengdled sieuang) wash wHDID WHEESE Harrer unfnmaaum b S

| ‘ . : el_LI.b aupru@&Hng ?

M%%) @_r_i,g,; surflafenio &L ib |

| . : Ef)‘-g g Hmwenn gL 1b

é) i Big Amyeuiiaet unGSTLLE S Lb.

Ry 5 o

l?} ! @@wupe £ weps s L.

Under which Act, a daughter is given a right in her father’s property equal to her

brothers, and a widow gets a share in her deceased husband s property equal to
her sons and daughters ? -

A) =f The Hindu Succession Act

f

B).| The Hindu Marriage Act

H
4

| 9} " The Hindu Minor-ity and Guardianship Act
. " D) Family Court Act.
71. g,g{?qd)unﬂ,@mésa,m wrmEE Dol Gu gpurt Herhsd
Al (s LHYIb 2 Mty
B} é ,rf,lsmﬂm.qé.azsh wHHID efieusmlaeh
C) % GSSWEBTie6 m!PQllb Beoflyssen _
D) % sNeusnllast wOHDID NS .
Naxalban Movement was a revolt between
A) . Capital and Labour

B) i Landlords and Peasants

C);:é Tenants and Landlords

D). Peasants and Government.
72. quam Busssed, Lk Qubm Ll Qelusisallsn Carflsems
N .A) \ ellenengaesiey epeTdled 6p(m LG
B){ eflenenssedied mrendled epstimy Liki@
Q). eflmendesiicv gpsified @ream@ Lk,

D). elemengeedles undl.

= [4001] . - [mey [ Turn over
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The demand of the share croppers in Tebhaga Movement was
A)  One-third of their produce B}  Three-fourth of their produce
- €)  Two-third of their produce D) Half c\)f their produce.

73. dfleusmlaeflen  (prefrur@set  sHOUTWH  asmens  sHBl  sflswrs
SlemwhgisTeng ? . '
A)  zofl weflz seps eflemw sl wrfleown
B) geofl vellg sups o fNenw adli wreu b
) (A) oppitd (B) BremBid
D) @eunmien sigia e,
In which aspect agrarian contradictions are located ?
A) The civil society vé the state
B} The civil society vs the district
C)  Both (A) & (B)
D} None of these.

74. weounifled Ogetnidleiv’ ershp Cleted Tems GHHILILG ?
A) . efeusmsen 1 B} (553absNTIS6N . .
C)  Revéaeunshgriasr D) wyEGmbse.
The term fJénmies’ in Malabar refers to .
A)  Peasants - B) Tenants
C) Landlords | D)  Priests.

75. Quoeneonsum HiGIed 2iBg ane-Qsir Couenretmens Pusan sbs Pl
peoLQubpa 7 B '

A) wsdflu SNrCseb | B) Ssni

C) Qsbh@ Sisveond D) sBpri®H.
Maulana Abdul Hamid Khan Peasant movement took place in
A) Madhya Pradesh B) Bihar

Q) Southern Assam. D)  Tamil Nadu.

x (4501
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Y gsﬁlg @iwéaﬁ;ﬂs&r' Crrée
A) .‘ :g;s&g&aﬂl__m Sfauisafien e_fanw uHPw Feps ﬁ@quﬂmm QUETITS S 60
B} gi&]ge&aﬂm Fnellenw flaflsse
. Q) -%-&Qy)es OIHDSENS 2(1HEUTE (S50
” D) . ‘ia@as @mm@umﬂmm s;mu@;g;gm
, Dalit movement seeks
. A} to deVelop social awareness among Dalits about their rights
4 B}, %mgé'easmg wages of Dalits -
C) _rt%o brmg social change
: D) -:o .(I;Brllng social moblhty
s TT.s _566@ mﬁxaimrem FI0 4 Glgm_u‘uesuu!._l., B
A) .‘ ?iﬂ?ﬂl.&l‘l : ' B) Gar;rerrrr
Q) uagzlu.u Lﬂrr(.'i‘g,eﬁ Di 51.61@35:(@.
B Dalit Sanéharsh Samiti was started in
B A) K%ag’}%ataka | © B) Kerala
L €)  Madhya Pradesh D) Tamil Nadu.
{f 78. _\@mgﬁgﬁ]s&) f‘tg;/srmm L &L . am@ugam’: ‘g{ml’rasrﬂs&r S(HSE! umﬁ:@(assh') ?
! A) sc&mu,sgawgmhmh Q1 Denseng srihzaiindr
i B) £sdm_.§§angmﬁadr &Melh, HMEVONE UNSlEhaltiLL L eukaseh
C) gml.ggsﬁngsufrassn FGGIUD WHDID Seps ,lg,e_ﬂeha:ras (pwhHd Qatﬂgmi’l
D) @mm% SienenBgid.
. a ' Dr. Amb,e;ikars ideology is/are
; @ A) 'Thé&i{‘i -touchables might Eelong to the same race
| ( | B) Untouchables had h1stoncally been an exploited group
C) Th%igg%touchables sought equality and Juence
D) Allof t;pese.
| - . x[4001] ‘*l ' , | [ Turn over
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79, BrHwrelied a5 wINNSH® H6is e aedevwwns 2 eeng ?
A)  ghprr . B)  waynsiplqyn |
C) G surustemb D] Ganyem.
In which state was Dalit movement in India especially strong ?
A) . Tamil Nadu , B) Maharashtra
C) West Bengal D} Kerala.
80. BPSaENIL_ FadmGNET WS _
L  Qgrfleoramisst Quasn s Hmeoulics Qusouns Canemblws.
U Aomés esed Qewwb Crrsesssn Canenbluig. |
. @sH©® ATdwe ussHla LHDID SEHDE HemLS551.
v. L.nélas@,m' BupulL  oiflarflsst  Qznfh smssser o erer

SIgsuev g6,
Beauppieh : |
A} Tul@b sflunsg B} Il wl (b sflwneng,)
C) I wl @b sfwureng D) emenggib sflursnene.

Consider the following statements :
I. _ Workers’ movement in the first stage was spontaneous
II. It was born out of philanthropy
III. It received political orientation

IV. TIts half of executives are actual employee of trade union.

Of these
A) I alone is correct B) 1l alone is correct .
C) Il alone is correct D)  All are correct,

81. Olusmast whmbd Glusior Guhengsst eSlussrr sHUUE siLb ZiSwn
Wpeugib SIBPSILRSSOUL L. o D)

A) 1952 B) 1958

C) 1959 D) 1961.

x [4001] '
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The.suppression of Immoral Traffick in Women ahd Girls Act has been enforced

L

4+ vthroughout India from
A) 1952 B) 1958
C} + 1959 D} 1961

82. 55-.6_]34’@5@ Sl MLWTSESUUL L QustTaame aauanD Siepsstiu@eur 7
. Ea .;k .,?, ] % . i

A) - SBieOWLLITSSIULL e empuunefl
: '
B) :Bzeugrd

3

Q) .. 'buggibion-

D} {eSuéerrid Qewuei.

The women of god-slaves are called in the name of
At _ :

. A) . iBonded labour
. .'4':?"""%%?,‘

B) . .Devadasis

¥ L

C) gigdathamma

3

D) Prostitute,

83, Jeg@sa%gwh aa.gbgas@m s :

cﬂu&’%mr  sBuyEF  sLLb  ( 1956 ) uﬂma;@ﬁ: @;j)p)f;asmm
gsg?;@?spsmé@shmnégé}mg : ' :
ugenflagnd@ wneurpey Sefliug
AL eflussrr RS BLS5iH60 |

. %%H. sﬂuéanqgﬂgb@ MmUY SNFTHIF60
" V. slussnflifien aiporengdes ainpse.

i o
A]=§ {1 @b eMwneng B} I wpgb Il eflurenene

]

ity

.‘“H H:

C) :;1, HI whpub IV #Awnenemes D) | Simensgid sNwnenspa,
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Consider the following statements :

The Immoral Traffick { Prevention ) Amendment Act of 1956 makes the following
offences punishable,

L. Rehabilitating the prostitutes
II. Keeping a brothel
. Inducing a person for the purpose of prostitution

IV, Living on the earnings of prostitution.

Of these
A)  Ialone is correct | B) - Iand Il are correct
C) II, Il and IV are correct o D)  All are correct.

84. Bpssemieuhmiet aigl eflusFrrsdlhanen anremleomes ?
A) Oueanseaflen srphsflenen B) Caseaugndl (penp
C) efswbisveong Lnedier eldsin D) Quemseaflsn sdewhellereno.
Which one of the following is not the cause for prostitution ?
A) Lower status of women B} Devadasi custom
C) Imbalanced sex ratio Dj | Illiteracy of women.

85. Uemeummeussieupmisht ez BidHwrelsd  Qumdeumd Garensvulicoeon
- SleL L gemng Siésa saiguig ? ' :

A} Qemfievwnngme sidefiug

Bl Uplsmu sLOUUGSSISH '

C)  asvell gemwuy e HmsHweningse

D) Gmmﬁsﬂmmmmw Buidy mmw'né@geb.

Which of the following would'solve the unemployment problem of India ?
A)  Quick industrialisation

B)  Effective birth control

C) Overhauling the system of education

D) Mechanised farming.

= [4001 | | (1401].
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| $6: voflase semeoLw  Spewss  appaip  Caeme

ﬂ'm_é_éqasﬁld)ws\)gmshpnd} S5

A) ¢ e prub Ceusnevullsienio B) getrennien Ceusnsoullstenio

L

Cj * Gsoneuren Coueneo D} umeusne Ceuemevullsiienio.

i;‘,a. person does not get a job according to his full capacity, it is called .

A) ' frictional unemployment B}  voluntary unerhployment

C) ’ underemployment ‘ D) seasonal unefnployment‘,

,, éﬂij‘-rﬁmnqg) Cousmeoufieveon Slehmi L smg GMOLUUSHENS LAESMIEaLIULL.

Sl rugsen

A b Cuflw wpHpib Adhu Biuneer Caenevssn

B) ‘a% Heod LETLUG SENb S L 1b

¥ seouy slleusmugong slfeyBSH60

The_i measure(s) suggested to reduce the rural unemployment is/are

A) major and minor irrigation works

N |

BT land reclamation schemes

C) ! the extension of mixed farming

D) all of these. |

sr,r_i',ifg @@ Sl Lgdlev emdlund Qungpenrs euprisiul Hieeng ?
A) aupLd urdléaiul L ugd Sl b '

B) Caemseumilsmu o il Qauujb 5\1:_1__15

o

C)  Geusmovd(g o _emiey ﬁll;,l_l.b
D) Sezw widHf Crrsvad Gmnas&n.

In ;vﬁich programme the payment of wage was given in kind ?
i '

é): Dmught— prone Area Programme B} Employment Assurance Scheme

C) Food for Work Programme - D) " Prime Minister Rojgar Yojana.

x[4001) ? | , [ Turn over
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89.

80.

al.

92.

Arrooyp gempsafidr awCaeme aunilulipHsens e (paurdsiul L. sHGuIgster

&Cr Sl
A) .TRYSEM B) IRDP
C) SGSY _ D) JGSY.

The single self-employment programme for the rural poor at present is

A) TRYSEM : B) IRDP

C) SGSY D) JGSY. -
b Qﬂsgnsﬂw@g S sdle Lss Ceuemenllevens Senengpimet HAp
Qanfled Glgrms eumiiy gHu®sslul_Biereng ?

Al (s phsreT(h S th B)‘ @sir;ggmb phsnen@ S b

C} epmnbd phsrem® b D} epebiugmb g;‘g,g,nsdﬁ@ SHrw.

In which Five-Year Plan, the educated unemployed youths were given chance to
start small scale industries ? '

A)  First Five-Year Plan B)  Third Five-Year Plan

C) Seventh Five-Year Plan - D} Ninth Five-Year Plan.

el ghHg CausfiGu unis@b Caimed QLTS ..........c.ccoee. mn@gé}mg.
A) QshsmsoL&dsssﬁvnss ' B) a&spdlroneraurns

C) senambiliseme o enL wieurns D) uewésnyrns,

Employment of women outside the home helps them become more
A) selfish B) independent
C) confident . D) rich. .

Setieumd  Faps FlLisefled Cameounis@n Cusmsefldn  Qunmenngny
BSOS UNGISHTES L Feuns L1 Lb 618 ?

A) ooppsuLls emdlu FU LD, 1948

B) &w emlu s ib, 1976

C} 74 eugl Swwed vl Hmes s1_Lib, 1993
D) Ognfpstemessh Hmsss & Lib, 1976,

x [4051]
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%
WhlGl‘}f one of the following legislations will not help to protect the economic
interest of employed women ?

8]
A) memum Wage Act, 1948

. B} E;qual Wage Act, lé76

C) . 'f?fth Constitutional Amendment Act, 1993
D): f The Factories Amendment Act, 1976.

1991 u: SETB semsOaGUls L @,r_r,ﬁ]u.mcﬂe\) 2 eren Geuemed LML
G\uso‘o‘raselﬂsm sitmenflsons

Ay %38-35 18160 S w68t B) 27835 BleveSwett

Q. 136835 Bevadluen D) 29835 isoeSwiei.

As perf 1991 Census, the number of workmg women in‘India was around
A) 238 35 million ’ B) 278:35 million

CJ 288 35 million ‘ D}  298-35 million.

94,,;,3§£@55go‘m_ unsFwrisenensd seuaflés

ah,r_r)gg (A): Blsremnmul ,rf_-.]mmu&]m melerr @@mugﬁsh @&é)mgymm
’ g eNsgienang:.

E N P

) 5uu'sm'u> (R): mn@su‘g,ﬁm urig Sideh Clumdng.

é!'Gg) @‘)ﬂulﬂL.@GﬂﬂT GSOSL160 shwnen eflensmws CoitOSE :
A) 3 (A) &M, syenned (R} Heum
B) (A) Feuml, opeurned (R) &fl

C) ‘(A) LoH | Lb (R) @retwr@®i &, Gugh (R) etetrugy (A) sﬂp@ sflwnes
eflen& & ed60

D; ;A) m;_h@tb (R] @reas@®w &f, | Gugnb (R) ssifug (A) phE sfluner

*;sﬁlsnésmb.

Consiéler the following statements : .
Asser%tion {A}: Modern family has become significant today.
Reason (R):  The state has acquired a greater role.
Now si:lect your answer according to the coding scheme given below
A) (A) is true, but (R} is false

B).i" (A) is false, but (R) is true
Cji P Both {A) and (R} are true, but (R] is not the correct explanatlon of (A)
D). éBoth fA) and (R} are true and (R} is the correct explanation of (A)

x[4001] ‘ : : [ Turn over
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95. ‘Ceusmev UNhEGWL Clustae’ eretim Cleney sieng GHH&SDS ?
A) oI Qe Qe erdlusHpers Coame Qeiueuf’
'B)  uemsdnsns ofiyCalu Couemed Qaiieuf
C) swwons Ogmflér Qgrkdl BLggiLeui |
D} Crrsms sfiuugbens CleuafiGuw Cousmer GlawLiaui,

The term ‘working woman’ refers to

A) oﬁe who wdrks outside the home for a wagé

B) one who works within the home to earn money
C) one who starts her own enterprise

D) one who works outside home to spend time.

96. Bbdw Fmwevor El'_L_gé]‘Sh 8P gbyenLw ﬁ@mm‘sﬁﬁ)&um Bwdl
A | Smwemrid Qeu‘:gj CQanstucuiaEns@ sScoeulrr osvevg wemenefGuin
Bops® sming | | |
B) wrmulévener 18 euwg whsSwremeurns @@;sas Geouedor(pib.
C) Smwemd g (peopULIg HL&s Gouatm®ib |
D) eunpsens gienemeueny seflcuCr Ggﬁﬁ@g@&& Geuedur(piib.
The condition for valid marriage under Hindu Marﬁage Act is
A) neither party has a 3pousé living
B}  the groom must have completed 18 years
C) marriage must be performed on the line of Hindu religion
D} life partner must be selected by the individual.
97. ,Qum.lm@dsesnm gL Uigyieunnss Slapivemr euwg 6151 ?
A) 18 euwug - B 21 euwgy
C) 22 suwgl D) 23 suwig).
. What is the legalised age at marriage for girls ?
A) 18 years ' | B) 21years

C) 22 years . D} 23 years,
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%

Bl e 3

‘ A) . (PSHEUNEET pPEULDNS

,fl@msm SO WIS Qym)uarras

¢

A
i3
-m-m-r“w» [

1 BESOTLINSEN PEVIDNS

- D) : ; &nﬁls 018 TG 6h @s\)mm

-4
f The inate select10n which is hot common in traditional society is
e %

, ¢ | _ A)_‘ % thrOugh brokcrs_ -

. T
At
" il

: B). - through marriage bureaus
# %,“ : .

§ through frlends

D) iﬂ% through caste organisations.-

T e
B s

- ok
; o ;WEEQMUULLQ ?

e g ' | A]* ol angdleSien andols B) wgg©wbgmt |
A:*' . L .I .

;fsif

In who S work the concept of “dominant caste” ﬁrst appeared ?

- ’ \
= 1

- *  Aj- ;Kathlegn Gough : . B) Majumdar
hd ) *-*38 C. Dube ' D) M. N. Srinivas.

S 100. 5;91.‘11 — Gumr@ — @eétmIu®” crsingj Fagflwieut wnir ?

- A)- %&nﬁ,@@ ‘ B) atb@uﬁaam’t
a C) | .;_c;s@ . D) .ﬁsoa..
; “Eﬁdxg;ate — Agitate — Organize”, who said tﬁis ?
st 4 B) ;, Ambedkar
\ D) Tilak.

S. C. @Gu D) M. N. @aﬂmnsﬁ)‘.‘

MASN

(PODWRS 6T

99. u.m@mL._m Suelles ‘oyflss g  esmp  QEmdOmm_t  (pseNs
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Qgmfleonenr 1. L_1b

LABOUR LAW
101. sl Gurb ssitgpnbd LG eupred 2 (Heursslul L g
SpLib svbls B)  Quon nisi
18 A& Qeuls D) AU

Q)

The term ‘collective bargaining’ is coined by

A)
¢

Adam Smith B) Prof. Aderkar
Beatrice Webb D) - Robert.

102. sni(p Cursdlen Cpnssbd

A)
B)

C)
p)

Qsmpleonaflag  aflgrs - ppseorell  emsm  Ulswrs  aB&EGWL
BLsuigdamaemw 5H&6s

(paeorafl wHmb  QsmfleorafisEe e Cuw o den 2.mey Wempeow
RO TLIGEICL

‘ 'Qg,ﬂgﬁlm nemiaeifisir ,r_r,msmas@s,ama,

psdlensa CelagnHans,

o Object of Collective Bargaining is to

A}
B)
<)
D)

- prevent unilateral action by an employer against workman

regulate the relationship between the employer and the employee
welfare of the labour

promote settlermnent.

103. Ggmfinenssdinarar Geannisul s Cgeneussr

A}
B

c

Dj

waeunafl sveug) Qgnfleonafisst Caibg B ubLiug
cusnflan Jievevg GgTfler BHSs60 CouahrBin
paeursfl Glgrfleonsfl e may (ewpenus @@rﬂ:@u@gg
Bemei pimensgitd.

Minimum requireme'rit(s) for a Trade Union is/are

A
B)
0
D)

~ there must be combination of workmen or employees

there must be trade or business-
to regulate relations of employer and employee

all of these.
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“104. Q§m‘ﬂ§98tﬂéﬁ &L.l_ggﬁsm £ Qgnflh Fhian’ fpsasir_ LSllﬂsqemﬂs\) euantrl.umg)

B) 2(b)
<. 2. | D} 2(h).
Trade Umon Act defines ‘Trade Union’ under section
A) 2 (al B 2(b)
0 2@ D) 2()
105: an;ﬁlg} ief&eﬂm.] sl gdler Sp 6'3\.L..® Guy LL.GUTLHq.&mﬁaiGIT @gdﬂ £
. Q&u.lsou@g,guu@mg,j
" A tﬂiﬂm 18 B) 19fley 19
) - '..ihﬂ 20 D) 9ey 21.
Collectwe bargammg agreements are enforceable in ID Act under
| A} Sectmn 18 B) Section 19 %
C) Sechon 20 D) Secﬁoh -21.' ;
106. Q&shsuzgwi Gl_&6ivemi_6d Qg,rrl_,ﬂs\mmnasm TbSSs  Qamfleoremt  shusb |
sjg)u@gguuu_ 468D ‘ : .
A) ]918 ' B) 1919
| (5) 182:0 ' - D) . Beupmer aigin)fledemed.
The texiti;ji_édworlgers in Madras formed la'bourr union in the year
A} 1918 B) 1919
C) 1825 ' D) None of these.

107. ‘an@msmagﬁm@ Shdluedy  sLGLIC I HES stpSlmrsur sﬁ!suésg @gm 39
Qasn@asasu@&.u.@mmgj ?

A) Lﬂﬂmls(z) ' ' _' B) Sfey 17
c) 1_<ihﬂsq 16 D) Gfey 15.

Immungty.‘to Trade Union against tortious liability is given under

A) Seéﬁgh 18(2) ' B) Section 17 |

C) Sectton 16 D} Section 15. _
108. Qg,ngﬂm&m&m uré]cﬁlsmsm 158 QFleug Daesflsn £1p @@ULSIL_uUL@me

A) Lﬂlﬂa.{ 8 B) Qfley9 g

Q) mrﬂsqﬂo ' D) Sfey 11.
' % .
N x[3001] f [1401] . [ Turn over
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109.

110.

Cancellation of registration of Trade Union is déalt under

A) Section 8 B) Section 9

Cj Section 10 - . D}  Section 11.

em Qenfipsussder uSmear 7oz Rl Crréasdbans, L._Jﬁé'umm
A em mn§ sreoid (Yerremflefuy QsnHss Couan(i

B) @uet® ong sreon (pemenfleliviy QarRss Goush(hin

C}  epém wrg areib eemflefiuy GarGas Cauam®w

D} BSeupmuen mgmﬂsbmco. '

For the purpose of cancellation ofuregistration of the Trade Union, the registrar
must give ‘ '

Aj one month prior notice

B) two months prior notice

> ‘C) three months prior notice

D) none of these. ‘

udley G\smygﬂﬁ't_l_ Clsnfinehan &messLILL L SHaNe aﬂsﬁaq
A)  smessULLL usielTan® BILsEHs G -

B) - amevdslul L udlepenm BrLsEHsE@6N

P

Q) seme&siulL uSlaTsnE, B sEhEsEN

D) smed&sUULL @@ eurrsSn@sT.

For dissolution of registered Trade Union, notice is to be sent within
A) twelve days of the dissolution

B) thirteen days of the dissolution

C) fourteen days of the dissolution

D) within a weck of such dissclution,

. @pbwg Gpnfleonent sl gflen £p Gubms Gumen Gsuw BUgssuulL

BIE0 IETEUNEITE)

A em mrefled @& wenfl Grywb
B) em Brefled Spn werfl Gryn
Q)  @m prefle gup wenfl b

D)  @m mraflé prevg wenfl Crb.
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E
Accordmg to Child Labour Act, the penod of work of a child shall not be spnead
over morc than,

A) ﬁygahours in a day ' B}  six hours in a day
C) s”?n hours in a day D). four hoursin a day. .

112. @gjg@m%;@aﬁﬁm Héiser Bepers vweLBSBHLGD

4) aﬂbuem.b Qar@uughHE

B) -@gﬂujﬁbama’mﬁmm ALY ETS Qe
. é) | a&@@)m sl Q&mm@pmg)aa@&@
‘D] @mmgl ammggub

F‘unds of the Trade Union can be utilised for the

A) payr%ent of salaries

B) 'églg;}:ijéxistration of the trade unions
Q) any llégal proceedings

D} all oi' these

. 113. qu@m&mg FLI_tb Gmd) (yamg)u?t_lq.p(g euens Clauaug)

A) G‘lgrn.,ﬂ;oar&as ueunenic Qgmfhetssems udey Ol wEH&Eb Gurrgj
B) : ﬁ&%’)ﬂ! seflsms QelaugheE adlrrs

3
C) an@pamagﬂs\ﬂ@ﬁy n..gun.‘i]ml’r @meuir Bésib Qaiuriu L_red
D) @WID@‘“ sigiayBlersmen.

The Trade Umon Act, prowdes for appeal

A) agamst% the refusal of the reglstrar to register the trade umon
B) agan;g;téthe audit of the funds

C) 'if athe_ n'fember is removed from the trade union

Dy} none. of these

% 114 an@m&rbalgﬁlmnmﬁ @mmm) ﬁwnﬂ&auu@ﬂmnﬁ

¥ . r«%{: A) Ltﬂlu,cgwa. . - B - I.Ql‘f@s\) -
17.3,?@;-
£ C) @#@np@ D) wsdw s
i E1400L R : (is01] n [ Turn over
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The Registrar of Trade Unions is appointed by the
A) Appropriaite Government . B) . State Government
C) Management B} Central Government.
115. euewfls s&grey arebtLIg) - .
A)  aeonsflaeps@n Gsnforaflagms@n PenGuw | .
B) OQsnilsonsflagnaEn Qgrnfleonlaens@n Sel-Gu
C) (y:g,mnsrﬂe;@é;@,m paeonafiagpsEn Ben_Gu :
D) Bemeu smensgib. | '
Trade dispute means

A) between ernplloyers and workmen

]
B) between workmen and workmen :
C) between employers and employers

_Dj all of these.
116. Qanfh séaye) sLLsdlen “eCanrshl 511" e1strug)
A) ENss aufl Sranfl el 1b ) '
B) Gamnfleoats uesfl ( Flemeo g emevmaen glLib )
C) wsuBum HEVFFLLID 7 | )
D} OQuamiiiy euenTwmids iU L
‘Sister enactments’ of Indusi_:ria_l Disputes Act is
A) Specific Relief Act
B) Industrial Employment { Standing Orders Act )
C)  Maternity Benefit Act
D) Limitation Act.
117. Cousmevsgyp Neteumeaismeup st ufihgiemFwuned gemwsstul.Lg ? :
A} Gadw Qgnifleonsii gy ememmwID
B} GigmfleoneniisEheane Tmued @
€ g G | |
D) Gourssaund .
x[4001] |
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Works Committee’ was established on the recommendation of
A} 4 National Commission on Labour
#

B) ": Royal Commission on Labour

¢) M “Madan Committee

i?)%*: Gurupadaswamy _gon}mittee.

é:éémsuéa@@mﬂm (piyeyseflsh Heirenw .
A) *E ufiggieny B) Gpfluymssise
C)y g WrsLemiu(p $51560 D) ! SL_Lnuib,
' Th*e: nature of the Works Committee finding is

A) ; récommendato_ry - B)  directive

C}j declaratory | D)  mandatory.

L@;M ST SletT ST 1q HNEUULSPISHEV 9—-§>,§>U&| 166TLIG) -
A)g B Cursvay QeswerLn@
BH ﬁé"(yzm,rn QlFweouT®

1

' AC}*ii Gﬂ@ﬂugcg,ﬁm QFwsur®

I));F Blireunss Glawesoun(®.

T£1£ order making a reference by the appropria.te government is
Al A Quasi-Judicial Act |

B_);é A judicial Act o

C)§; A discretionary Act

:'D)J‘j An Administrative Act.

120. §;Q§ngﬂmgé&vm gL SSl6n p&Hw snbsib
A)§ gl B Guyd . B) ) SISh
C)" | BemsoysSiey D) Smiueaflgge.
i&,'!;!;e spirit of the iﬁdustrial dispute is ' -
5 J!{A) collective bargaining B) conciliation -
B :C% arbitration D)  adjudication.
i

MASN
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121. Sehraumeusmeugifiev a1z #fl 7

A)
B)
X

D)

Bieyser ghanedle Heungemmb Caneir gairrmmumL_u;lgg
Srey wHmb e Lsnur_ BSia UG Gslw gprwng
BengaygSitiunent sreruFled ﬁ,@su@l.b o_6TETL_hi(SHb

SArPwesnoliyé s Lib e piiy 136-6 £ Sraugdlenen Coed @ﬁmuﬁ@
Gleww Buweong:.

Which one of the following is true ?

A)
B)
<

D}

Awards are in the nature of interim relief
Award and settlement are not compactable
Arbitrator includes an umpire

The award is not appealable under Article 136 of the Constitution.

7122. Cznfpeserey sLL_gdlsn £ “‘Lrgiasssul Qgmfleonsfl” sispned

A)

B)

C)

D)

Qanflé BpiauamsCar® G iymew Qgnfibetis semeoeut

el @ Guy Crrsstsgpdsrs Hiutegde  gudsfasiuc

Cigmfieonef!
udley QewwiurL Qsmfipens Oswh@welen Gm e-mulani
Beupmien 150 060 eme0.

‘Protected workman’ under the Industrial Disputes Act means

A)

B).

C)

D)

trade union leader connected with the indpstrial establishment

. ] -
workman recognised by the management for the purpose of collective
bargaining

a member of the executive committee of the registered trade union

none of these.

123. Setreu(meusmaupdied s1g1 Couens BimiSsid 6060 7

A)

C)

~ x[4001)

Qurg Couemed Pmissi> B) eanafigpuy Geuened Hlmussid
Qwgeunen Ceusnso ,l_f,\@)g";g,ﬁ: ‘ D) semwnen CGeuened Fimissb.
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3 Which: one of the following is not a strike ?
ER ] ' ) .
v A)LT Genera.l strike B)  Stay-in strike
: C] “? Go—slow strike . D)  Token strike.
IR
o 124.*6]5“‘@11) séausq sl L gSletr |51|le.| 33 & é&fw G,r_r,nésa,lb L#&ﬁﬁmsmﬂ)ggua\) ,
e . ?
g : cﬁ]sndsél Qansos\)uun_l_ VI TG
5 Ay, A) - é’comh_. Hmeipemwn QILssivenLed Bleveiv slf an;ﬂmmﬂam
’ B)-'" N iﬂbl.;_'_GL._lT Glorenue) Sym_&Lsiv gt @hdwn oS aglF méwngd uneon
- Q) ;jfrswsl’r s&areuisdl afli QRN L reflur Never. swouefl oS
i D) uu.n'feioGL.nan Lwir giefr  yuui sboluef] ng,ﬁla)umfr ﬂj)fi gggstr {
R Lf,]l'rmnam :
3 The ob_]ect of Secuon 33 of the Industrial Disputes Acts was explamed by the .
Supreme Court in the case of '
¢ A} %Lord Krishna Textile Mills vs Workmen ) :
L - : a
i 1B T”‘“éfAutomoblle products of India Ltd vs Rukmajl Bala ¥
L . Q) i&iShankar Chakravar_ti vs Britannia Biscuit Co. Ltd.
D) i;Workmen of Fire Stone Tyre and Rubber Co. vs Its management.
X .
8 125. 9@ an@mmﬂlﬁm usefl Béasdlen Qeobasnamwenw e fw aqu'av SLLmu .
g 4 gﬂiigﬁ'uq peDEES G‘ITL.I.q. Sigtiyh Gungj Qmmul.‘ﬂds@,m SO @mlﬂL_l.D
. LGHQUQJ R
i S A) - Ogmfleonefl-nggsnyh - B} Bieursb-aflt wegsrri
o Q) ??Ggu@mmn BBwspd D) awmm.
N Whenevcr the appropriate Govt. makes a reference in regard to the validity of
' termmatlon of employment of a workman for ad_;udlcatlon the burden of proof ‘
lies G_Eﬁ 4
A) ' -E;»}éthe applicant-workr_nan B)  the respondent management '
. . ! 1 x@ l ’ :
; C).. “‘the Labour Court D) the Government.
x[4G01] : [(3401] . [ Turn over
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126, utiqwed I g uwlgwed II oLeén Quimsd, &0 G\asn@aaa;uun.@msn
GPNEGsemens Qansin® sfluner ellenLsmws Caibos®

L iquied 1 Ui iguied I
a) sirdwes F4 . 1. Sfley 17
b)  Qurgy H o 2. Ofley 18
c) e flemwulwed aupsaaflediirhs 3. Ulfley 15
ellevd(s
d} Goown sdullelmha eleoss 4. Afiey 16.
~oIIB 8T .

a b c d

A) 4 3 2 1

B) 3 2 4 1

C) 4 2 3 1

D 1 2 3 4.

Match List I with List II correctly and select your answer using the codes given

below :

List I List II

a) Political fund 1. Section 17"
b)  General fund | 2. Section 1\8
c) Immunity from civil suit 3. Section 15 ‘
d) Immunity from criminal conspiracy 4. Section 16.

Codes :
a b c d

"A) 4 3 2 1

B) 3 2 4 1

C) 4 2 . 3 1

D) 1 2 3 4

x {4001} .
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128,

MASN

D) é ugrens Ceetar QLeueotiGwermL. whHmIb ﬁ]esssn@mm,sin esnfruu(%nma&r

i 0L el semeveno iflandl.

i
R

! -Which of the followmg cases is connected with ‘Retrenchment’

A) i H.D. Singh vs Reserve Bank of India L
State Bank of India vs N. Sundara Moni

C) ' g Santosh Gupta vs State Bank of Patiala

D)} % Punjab Land Development and Reclamatlon Corporatlon Ltd. vs Presu:lmg

" officer.

qu@m&rﬂ& Bememriy Qgniunen susnawkiss BmLiLg

g

Nfley 24, 25, 26 whHmyb 27 Ggmplhemns L b

s

- .
st
—

Nfley 16, 17 whHmib 18 Ggnflbsmis s b

g ¥

]
—
i

Sfley 24, 25 wHOIb 26 Clamfihenis L b

P g i

®

g

i

<

lﬁ]lﬂ&] 10, 11, 12 LD‘I_!_)QjI.D 13 an@m&rﬁm EL.l_I.b

veri QR
Pt

1 wpmih [ sMwreneney B) I ul (b sflwureng

g

-

b

"Ptéfrision relating to amalgamation of trade union is contained in

I. Section 24, 25, 26 and 27 of Trade Union Act

1. Section 16, 17 and 18 of Trade Union Act

......

#i, HL Section 24, 25 and 26 of Trade Union Act

i 1 IV. Section 10, 11, 12 and 13 of Trade Union Act. -

A) i ITand Il are correct : B) 1 alone is correct

g.g
4

IIl and IV are correct D) I and IV are correct

I whHmyb IV sfhwunemene D) Iwpmb IV sPurerene.

‘x . ’ . : [ Turn over
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129. Qarnfin FEFTOUGEET FUL Glet PP SETMTEU &I SIL-L_eueneveTuiled
@HUS O (Hsiren susfaCom® Qsriiymiw Qsmflh sssramen wH Db
SiFsssTe) 100 &b Copul L Canflerartseanen unflssnrg Guag e flu s
GupGanst arl iy FaubdnE sgiusnd

A) Qgmfph Siumud B) &swre G -
C) 'Qgttgﬂs\mm« £ Slwspin D) efsarens SHusnpin.

Disputes connected to any matter specified in the Illrd schedule of the Industrial .
Disputes Act and not likely to affect more than 100 workmen may be referred by
the appropriate government to . '

A)  Industrial Tribunal B) Board of Conciliation
Ci Labour Court _ D)  Court of Inquiry.
130. Seneumensuphiied e1g) 56}1;95&. @lmméi&ﬂuf_@ﬁmgj ?
A)  Ceuemevd GHup — Q&b et &weluerfl Sl
' a1l sigen Clgmfleoneniaelr

B)  cirensd Cpem i Stz — ggevein 19Cigry sb@Que (1)
e\ szl \Bis0 welogyrh Fun :

C) CQanifli eoemmmish ‘ -— Gadlw QLshvsemL_6»
Qgmfleoneni srvab st ,
P. R. grndlmeipemretr wHmib
L1eofy

D)  snenpafissiiuli_ fleney yyememmaedt  -— GleuevLitelr Ridwn Gl &

' &b a7l 16t

Gigmfleoneniasir.

Wh{ch of the following is incorrectly matched ?

A} Works committee — Kemp & Co. Ltd. vs Its workmen

8) Reference by Government — Jalan Trading Co. (P) Ltd. ws Mill :
Mazdoor Sabha

C}  Industrial democracy ~— National Textile Workers Union wus
P. R. Ramakrishnan & others

D} Certified standing orders — Western India Match Co. ws Their
: workmen.

x[4001] -
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@mm @é,msmasslﬂsﬁr &y @g,surrsrﬂmnm ng@m;bmuul_l.. 2 Sggelics

&L Sgeheno
Bl pumu® dfad
i .
1C)  aCsaun Apuyflewsmen Hpbu GLped

1D} geumgeons Besb GElwtun an@s\mmﬁa&mm wpiuguh Ceigsed.
A o ,

;Which of the following matters are within the jurisdiction of Industrial
:ATnbunaJ ?

A} Legality of an order passed by an employer under the standing orders

'*B) Rules of discipline

Y .

C) Withdrawal of any privilege

D) Reinstatement of workmen wrongfully dlsmlssed

132. ngn@;b&é&lrsqa,sh &L Gdlelr &‘:p aquﬁ];na;sdm;sum;ﬂlso ergj @68@] (pepwhHD
i@bu@m BLauig&ens ? ,

;A)i Siaugms HempGaipp LSS

B} elLyier Ceaume [AIWEELEEE Gurrgu an@mnmn&smm usnfléE

ICELTY

,»%C}ii | ah_.l.'..Ll_lras Cuyd Qewsw mgjg,g,dﬁ
! Heneu SieveuSHFILb. r

WJ'uch of the following is an unfalr labour practice under the Industrial stputes

Adt 2

A)‘ Failure to implement award .
".B):? Recruiting workmen during a legal strike -

"C)é Refuse to bargain collectively *

¥ '

: D) Al of these.

133. £gpésass&m_su;g;ﬂm agl @) Gmmmuﬁle&@ﬁ,@ ,@ggﬂ mmﬁggﬁdmnm
' :F;lﬂu.msw parbSrd e ?

) R,EA‘) @u.l,r_r,‘e_f,lm Canermmy B) | @mgjma &j’)plb
| aC); fessfl g @UUIE D) B s Gour@.
x 5 - - ‘ ' : [ Turn over
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Which one of the following is not a ground for 1ay—off ?

A) Breakdown of machinery "B}  Natural calamity

C) - Shortage of coal | D}  Financial stringency.
134. Qpnflh sseraisst sL L 550 Qensasdivuunmfles oibssvg

A) | SgEaIReR B #HuCursiey feafl

C)  fHieurs sdenf D} el (penp Sionnub,

Siatus of the arbitrator in the Industrial Disputes is

A) cgﬁciliator . 'B) quasi-judicial authority

C}  administrator D)  statutory tribunal.
135, 2 L ed Sriug evsitigy

A} 2L B ahuiD srwkiseT B} werfHunren srwb

C} Bsw Crpnissh . D) Bemeu gemensSgid.

Personal injury means

A) - physical injury B} mental injury

C) heart diseases ' D)  all of these.

136, sife Caumetugnelen siremrors g Osnflers spOarme Qs
GlanegorL_med '

A Ba ewm dusg womib Fraul® Cameond

B Ba 90 duss sive wppn Qpod® Canr Gueons
O Paeo Auss Sisven gyemmed Buind@ Cameomd

D). @eupmist sigayledemen.

A workman committed sucide due to over work load.

A) It is an accident and claim compensation
B) It is not an accident and cannot claim compensation
C) It is not an accident but can claim compensation

Dj None of these,

x[4001]
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49 MASN

A)
' : % Auif e ol gflstiu@Gssl Carhsscmd
§
. ' B} Genfleorsti @@ geweswhr e fevw  Garguenr  Ganflw
. ‘% Byt e yiflsuupss Qarhies Busong '
g': ! ’ C) ;g Qgnfleonsmi @i G .%smmu.ifr e-flemw  Campuert Carflw
- -1*13’ Bl eni enneseinbd

i ; Beaupmst argieylicomen.
_';“ thijch of the following is correct ?
Tar . 3
g A} 1 The commissioner for workmen’s compensation can- enhance the
i compensation claimed by the claimant
v B)‘n The commissioner for workmen’s compensation cannot enhance -the
- . . compensation, claimed by the claimant
v O § The commissioner can lessen the amount of compensatlon cleumed by the
T "1 claimant
: D)é ‘None of these.
A z-?i Q '
‘ 138. eflugg netLg) ,
. % 1_; 3 . ) ., .
‘ A Qgmfleonsmi  Gpui@  slLb 192361 & - umrwenD
1 GewwduL_efévened :
L) . -
- . Bl siliungig Hapey erem susorumssLULGiTeTs!
K _ T ;C)%" steuellg Fngenmsetientl erhul L. Hapey stem GquIJ'UJLNEGLILIL_@dTﬂTg]
| D),; uﬂ_é,]&esuua_a_ Glgmpleonefluliel Lnieneuemw G]urr@g,g,g]

’I‘he term ‘Accident’

T#

is not deﬁned under the Workmen’s Compensation Act, 1923

LAY
¥ : B}: is defined as unexpected event -
¢ C){ is deﬁﬁed as happening without any device
-D.): is regarded from the point of view of the workmen who suffered it.
. 139 %Qbmﬂmnmn Bl s shen S 2 LHseH Bwoy Been auq.uumL_uS]G\)
Qumu&]a&a&uu@ mS
A); 2 L hélmesr Gipriy
B) swundlé@b Sosst Bhipiny
: C) (A) whmib (B) @retm®ib
RJ uensilulleln &revgeng L QLJ#Q]Q")Q,Q].
x [4001 ['Turn over
W AR

Ganmueui  Canflw.




MASN

The disablement under the Workmen’s Compensation Act has to be assessed on

50

the basis of

A)
B)
C)

D)

loss of physical capacity
loss of earning capacity
both (A) & (B)

depending upon the length of the service.

140. an@;ﬁ&nﬁﬁ,g Crrbast auamaliLBSSIUL g mHUUS

A}

B

C)

D)

1 oL eusmemruils LigSaer AB wHmnb C
A st suememoruletr LS 1, 11 15@:_;;@ A
SiL-Lsusnen | st @4l A, B wHmb C
Beanmper ergia)dlsrened. -

Occupational diseases have been categorised in

A}
B)
C)

D)

Parts A, B, C of Schedule III
Parts 1, 11, 11l of Schedule A
Parts A, B, C of Schedule 1

None of these.

141. @uS® Gumib e-fAemwwnesng)

A)
B)
.C)
D)

sMLLDISSIb 2-Aemw
Slguusni. e-fevw
Qewgnisgib e femw

wpenwuwnsst 2 fenw.

A right to receive compensation is a

A)
B)
<€)

D)

negative right
fundamental right

positive right

~ absolute right.

[1301]
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142. %Qg,ntﬂa\mmrr UL @ syensmrui HUTNSD sﬁ@uug

@pgmmﬂ HHID By uje asnul&.@ Bmieueng i@ o (Surrgjumm sumuuq
@qsrﬂgg NpCs

B), ¥ @gs\)mﬂ&@ L (Bb eumuuq aﬁﬂg,g ISI;DGas

Q) . a,c&b“-l‘“ 5m_n§|_® Boicusns i@ eumisiing gmﬂgg, LS\;DCBG;
) g,shsvﬂ&m&mnas W4y QFISe0.

The. ccfmmlsxoner for workmen’s compensation can levy penalty

- A}y '-="‘_%gnly after giving opport-u_mty of hearing to the employer and the insurance

,company

B} .Tgnly_ after giving opportunity of hearing to the employer

c) . %nly after giving opportunity of hearing to insurance company
) E .

D) - on suo moto,

143.. ng&lf.\)nsﬂﬂ @Quﬂ’t_@# a=t.t..§§]m &p %mmmup&@
A &m@mL..u.! @,oﬁjmgu.: SiuSlenen wmy gpurey GlEwiw a@]&uu‘m a.srrsrrgj
B) ’ (y:,r_r,amgsu.x Sinulenen vy ey Qsiw s @mms\)
C). . i aimmnﬁ,r_r,g. B sirybd
D) ppemgw Sifemer penpCa@ anpammons wH gyite) Cewwenb,
The }éeé;amissioner under Wo,rkmen’s Compensation Act ha§
A) 1ﬁ§§wer to review his earlier judgement y
B) r;o power to review his earlier judgement |
C) . m;'xerent power
D) _power 10 review hxs earlier _;udgement on the ground of 111ega11ty
144; Qgﬁﬁmnsnfr Bof & s L sfen Sip wpseonef @Quﬁ@ ST WmLLUG
LAY erg,@_nb wepiCaur ' gievevg uppsGan 2 Memwuiwed o pid Sraudlwied
GL.I_ﬁﬁﬁiﬂ £ srése QsLwWiLLGmBESTED
B) '.g{%f)m Soulemen agbu@ﬁgum Cungy
Q) jéf@&'ﬂ&[bgj UG ﬁmssrresrrg; s61D 5nusm§,§]6mrra\)
| D) @Gug_r)gjm sgiepScrenen.
y _
% x{4001] ‘ o '[’I‘urr‘lover.
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Employer under the Workmen’s Compensation Act,K can refuse to pay

compensation

A) if any application or suit is filed under civil procedure code and law of
torts

B) in case of injury causing to death

C}  on the ground of volenti non fit injuria
D) none of these. '
145. Qgmfleoreni @i G& s gdlehr S g emewnueny Flwwed Q&uﬁmg
" A) S&wenpid : B) seonefl whHpun Qgmeonefl
C). wrflev re D) Beuphmyst agmt&sﬁmsﬂ.
The commissioner under the workmen’s compensation is appointed by
A) the Court ' .B)  the employer and employee
C)  the State Government " D) none of these. :

146. Qemfleoneri il GiF s gdlen £p CoowernuliG srsse Cleww &

CUEM TWITETIE) . -
A) 30 prisér ' B) 60 Brisen
C} 90 priaer D) 120 mrlser.

The period of limitation for an appeal under the Workmen’s Compehsation Actis
A)" 30 days ~ B)  60days
C) 90 days - | D) 120 days.
147. Qurmity eussTwmssuul L sl sden 5 eug Siflallet aprsmIba6T aEDE

Qurmbsid 7 7
A) Cuwe weopdGiser Gignfeorsni snunil BF s L gdlen Sip
B) sl gdlen Goed (penpuli@eaEns® Qurmpsis
Q) Cue wpoplli@sE em ugd vl P QurEhSIb

D} - - @eupmie sigieybleoeneo.
The provisiqns of Section 5 of the Limitation Act is applicable to

. A) appeals under the Workmen’s Compensation Act
B) not applicable to appeals under the Workmen’s Comepnsation Act
Q) applicable partly to appeals

D) none of these.

x[4001] .
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149,

b o8

3 .. MASN
G\,sn@_mnmﬂ- QuuirGé esligdlér 30 eug UVftelen £ G
Cuerppenpuiig @ Hre0 susnHiusnpwneng; SevrsdL_ LB eug)
A) .a_gg,rrsu Apuissuul, Cesflullledwmig
B) e gsrey Qsfefsaint L. Gg;ﬁuslmﬂ@jsgj
Q) egsre GupuuLL Csdluledmbs
D)l Beupmist aigiajblerenen.

The period of limitation for an appeal under Section 30 of the Workmen’s

. Compensation Act is to be computed

A) - from the date of pronouncement of the impu_gned order
B) from the date of communication of the order

C) {rom the date of reciept of the order

D)  none of these.

Qgmfleonemt mev 5«1.115’1_@& 5I_L._§£|6h &p syewemmui ECYp ssv_euhenm
Fwhtilsseond

A} sl sllenn eshen afleywgeng e wigSwsnpgdlen puaisans
B) Qunmetorenn sbupbgwren eflennedlenem é.wﬁﬁélms&rmﬁﬁlsﬁ (O Y
C) am@mt_tu wpieemer e wiBfoennsSib s

‘D) @mpgjsh sigiaBisene.

150,

Under Employees’ Welfare Insurance Act, the commissioner may submit
A) any question of law for the decision of the High Court

B)  any question of fact for the decision of the High Court

C)  his decision to the High Court

D) none of these.

Qarflberensomen sLLb, 1948 & 15, 16 whHmnbd 17 suwigl 2 eI WeunseT

Lﬁlmsu@cumngj ImWEsLLGE DTse
A) GRHEmS B) Qemb puisen
C)  Pemeneniv ’ D) o flenw anwg) JenLbeeul.

x [4001] [ Turn over
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" As per Factories Act, 1948, persons in the age group of 15, 16 and 17 are called
A) children B) young persons
C) adolescents D)  adults.
151. s©d steniisy cuprsiulL. GYbamg Cgnplenameny

A).  oCsgue mrefled Qsmfihsrmenuisy 8 wewfl Gj_r,lrm Ceuemev Glauiw
Sigwdlese0nd

B) TS @ wrefléo Ggmfheransouiled 4% wewfl Cpmb Ceuemev 'Q&u':llu
a@jm,ﬂa‘:e&mﬁm

C) eazreug gwm Brafled smamen S mmsﬂu&\sﬁ\@;_f,gj 4—— wewfl Crribd Gmms\)

G)&t.uu.l SisnioFléseonbd

D) @@niny @ wsmn Hefléstul @ 6 Coaumeo LA ng‘.ﬂp&nmmuﬁ]m-
Couemed Qe siguwdléaeond.

A child worker issued with a certificate of fitness can be allowed

A) to work in a factory for 8 hours in any day

B) to work in a factory for 4—;— hours in any day

' 1
C) to work in a factory for 42 hours in any day from 5 A.M.

D) to work in a factory having & working days in a week on Sunday as
holiday.

152. Ggmfleoremic s srnf’ GiF sl sdled Dereumeusmaupmyen sienpluhs
GRSl efebened ?

A) Q;f,ﬁl.i.l B) urgasmiy

C)  wsuGumy ' D) Qamfled emuib.

The Preamble of the Employees State Insurance Act dt-aes not discuss
A) sickness B) safety

C) . maternity ' _ D) employment ir}jui'y.

153. uenflé QarenL &aNe 2 & auribyy
A) usgiong esrflud B) udenenbg s serdlwb
C) Bmug wrs esHwibd | D) @supmiet sigiayileoeneo.

x[4001] [1401]
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“The ceiling for gratuity is

A) 10 month wages B) 15 month wages

Q) . 20 month wages D) none of these.

Baisall_Bmbg Osnfeorat Ppud G s L sflenr Tfley 12 meisLr@
Qupeueng shiéseilcoans ‘

-A) @gmmﬂlﬂl_tb Pmhg wC_(Hb

B) . pgenall wppid guUbsSITE BoaufiLpn Bobs
C) - poeonaflée ndeons GUUBSESTTR

D) Bapmien agia)lléoemed.

Section 12 of the Workmen’s Compensation Act does not prevent the workman

to recover compensation from

A) the principal alone

B}  both the principal and the contractor
C)  the contractor instead of principal

D)  none of these.

Veraighb e ssffvem ausGsaie gm supsdsd veanfls Caramimul up
GAUR_uuCellsvensy ?

A) Qi Gyr HCwi L Qgmfleonari szt G Crn SCw Lk, Lnbumis
| B}  emamn Grr ( @mglwﬂwﬁd\) ) BenrBeul eSWBIGIL L s7li Qmmibleoneniaeir

' C)  ewmeomuun efmsLLn pmib et evsipl  eflciggmy L devenLsoe

T R .
D} #& efigguis o evevatr Wevev sNBGL L a7l wCappSrn WrsTurmD LS.

In which of the following Supremc.Couﬂ cases, gratuity was not discussed ?

A)  Workmen of Metro Theatre Ltd. vs Metro Theatre Ltd, Bombay
B) Hydro ( Engineers ) Pvt. Ltd. ﬁs Workmen
C) Lalappa Lingappa and others vs Lakshmi Visnhu Textiles Ltd.

D) Digvijay Woolen Mills Ltd vs Mahendra Prataprai Buch.

x[4601] - [1401] [ Turn over
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156, uliqued I g uwligued II eoLédr GQurmss, HCp OGar@ssiul (pHerer
@RI aamems Qantsan@ sflwner elen_enwusg CsiECs® :

ULigwed I UL qued I
a) (P& GeuFWD ' 1. e by )
b) & 6887 HEUFLD C 2. semev
c) SHENEVEH HEUFLD 3. (psw
d) ungismiy Gusl. 4. acuse.

EoIE s

a b c d
A 4 3 2 1
B 3 4 2 1
0 2 1 4 3
D) 1 2 3 a4

Match List I with List II correctly and select your answer using the codes given

below :
List1 List II

a) Face shield " ‘ 1. Body
b} Goggles 2. Headl
c) Helmet 3. Face
d)  Safety belt 4. Eyes.

Codes :
a b c d

A) 4 3 2 1

B) 3 4 2 1

¢ 2 1 4 3

D) 1 2 3 4,
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157. ehs wpeowwren Gamiun® Qgmfleonent Pt G& sl sdbars Hursd
Clediwnn g ? . ‘

A)  ghscuemblsienin

B  ayusms SHUSTE 5(BHSISHE

C) Qungisuner Qgnfleo siveg e 16 uenflyfueul i
D) saun @eveonwed Qurglifledamen.

The age old doctrine which has been sacrificed in the Workmen’s Compensation
Act is. '

A}  contributory négligence
B) é.ssumption of risks
C) common employment or fellow servant rule
D}  no liability without fault.
158. Semraumeuamaupmiet sibs Cggmg seupne QuImSsLLL Deeng 7

A)  Boksr pepewwrer g@dipuy 0 — 6 (emioysed )

B) . Burbsr ugd e b seduipuy — 36 ( .gitiysér )
Q) RUIL purser Caumewnl aeflsh £ — 48 (e glysedr )
D) Qamfipsnigs Crmiusss UL w6 — 38 ( emiiyser ).

Which one of the following pairs is wrongly matched ?

A} Permanent total disablement — 6 (items}

"B} Permanent partial disablement — 36 (items)
C) List of persons under workmen  —- 48 {items)
D)  List of occupational diseases —  38{items)

159. GgmPleonemi QUi & PRI @g;ms@‘ SULPMIGaG!
A) dusmsapnéE |
| B) Qgnilheniis Q,mfru'.ws@é@
C)  eluggsest wHmib Ggnfiberme Crnisenée,
D) Papper ageSsme. )

x [4001] o { Turmn ove|;
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Workmen’s Compensation Act provides compeﬁsatiori for
A) accidents
B) - occupational diseases
C) accidents and occupational diseases
D)  none of these.
160. Qsnfihenenen #L.LsS60 aHemw eunihs g,_sa'm..@méssh @gS?DLS'IL‘.@GiTm Nifley
A} 9fley 94 B) Sifley 95
- C)  UWRey 96 A .- D) Sifley 104 A.
Most stringent punishment under the Factories Act is given vide
.A} Section 94 ' Bl Section 95
_-C) Section 96 A : D) Section 104 A,

161. Qgmbleomemt @uud G slgdler Uy ey 16 Galg emLIBSr
Siismawreng (pseonefluned gemeamumeiE BonE eurs Garbiss
Geustor(Bud

A) gallaunm sum@Lapw Dursufl 150 Cad
B) eqeubleunm suq_r,a.@otb wriE 15 a8l -
C)  eeubleun(p eumL_(pb girsd 15 Cxd)
D) qeaubleun@m aum(ph sured 30 Cad).

Annual return as required Under Section 16 of the Workmen's Compensation
Act should be sent to the commissioner by the employer before:

A) 15th February every year
B) 15th March every yeér‘
C)  15th April every year
D)  30th April every year.
162. uewfls Qaren Q&n@e‘mdu@mg
A) @uey Glupib Cungl wL.Gib
B) sreopCsmmb QsassULG g
C) @ms}b;ﬂ;tufr e NimLsn Q&G aeny
D) mnﬁﬁ@gn@:&. '
x[4001] (1401]
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Which one of the following statements is correct in the payment of Gratuity
Act ?
Y A) An appeal against the decision of the controlling authority may be filed
within 60 days
B) An appeal against the decision of the controlling authority may be filed
. within 30 days

C}) An appeal against the decision of the controlling authority may be filed
within 15 days

D) No appeal lies.
166. sflwnen gnhHilenen seim@ifiy :
A). verflaQarm 20d Qoliw sngws
B) Lol 6@ s nenL 2ud) Qi snigig V60
C)  uenl&tlanemL. ugﬁhmm Rus Celw saigwg)
D) uenflaCanenL esrrsis UG gud GlFlw snigug.
Identify the correct statement :
A) Gratuity is liable to attachment
B) Gratuity is not liable to attachment
C) . Gratpity is partly attachabile
D) Gratuity is quarterly attachable.

167. emdlunb curu@d &L L.ib 1936 8p Getteupd ehg Kifla) esdiub supri@ib
CummiSlenes uH Cervdmag ?

A 9fey2 - B) Afley 3
) Afeys D) 9l 5.

| - .
- Which Section of the following deals with responsibility for payment of wages
under the Payments of Wages Act, 1936 ?

A)  Section 2 ' B) Section 3

C) Section 4 D)  Section 5.
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164.

165.

59 | MASN
Gratuity is paid
A) on retirement B) periodically
C) tll the pensioner is alive D) monthly.
LDy 60T sﬁﬁﬁ@ésasm mﬁ)@th SUTUSTONST o LH anukhsdr  UbHdw
SifGensasemen Glgnfleonent I (B abmsimn;.l@é@ Slepuuiuu®Gieug
A) 24 wewfl CErsHp@en B) 3 BALSE@H&@EE
) 7 Enu.a@ds@sﬁ B D) 30 prisEm@en.

Reports of fatal accidents and serious bodily injuries should be made to the

compensation commissioner within

A) 24 hours - B) 3days

C) 7 days ' | D) 30 days.

QgmPleonent il G& ( HmSsib ) FLLIb 1995 joEysE ubs BeT
A) 15 gyaeior, 1995 " B} 26 goewreuf, 1996

C) 15 Qeuibuir, 1996 D) 1 o&Ginuir, 1996.

The Workmen’s Compensation { Amendment ) Act, 1995 came into force from
A) 15th August, 1995 B) | 26th January, 1996

C)  15th September, 1996 D) | 1st October, 1996.
venfl&EGlanenL uprused s LSS Neoumb sapmsefic ag #fl ?

A slOuunl@ ferfidlesr pyma adliss 60 pn_sEps@et Guoed
(peopul® Qediwednb

B) sL@uuni@® gflenflllstt wprenes afigz 30 ,rbm'_.aa@&‘@d'r G

yeopul® Qeiweomb

C) s@uu® sidlenfllst Yuoa afiss 15 prisepd@s Gue
wpoopud®H GFbwemDd

D) CGuwe (peopul® Qeiiw wprywng.

x| 4001 1401 [ Turn over



168.

169.

170.

61 | MASN
Qsmfleonenii a1 B& FlLsde apgsl Ufley e flamwullue Bhlwsnmsden
Silsny surbenu eflevsdl eneugsed uph GHLSIGEDE ?
Al ey 72 B dfe 74 (1)
C) . ey 75 is) D) Sfey 77.
Whjch Section of ESI Act specifies the ouster jurisdiction of the Civil Court ?
A) Section 72 | B)  Section 74 (1)
C). Section 75 (3) - D} Section 7.

enflugdhanren sr0FDS m@u.nh QUG al_L_gjlsh ( 1936 ) &p wni
Biewrub Qendprissr ?

A)  sypieumerh

B) sig&

C) Ofley 3 6ir SP exrFlwib euprusts QurmtiLTaTeuis e

D) @eupmuer sigieyblerenev.

Who is responsible for fixation of wage periods under the Payment of Wages Act,
1936 ? |

A) ' Inspector

B) : Govérnment

Cl | Every person responsible for payment of wages U/S 3 of the Act
D). None of these.

Aetreumd sappisafics g sfwneng ?

A funw esdluib @mphsurs exdlugdenen L. Gempeuneang)

B) (onksule camflugamng Riemub Csuwyd Gung peeoreflulier Lew
uprEGD 56 samadd CQardag Cameaudicans

Q) mn@%ﬁ]wb sieugl Gmppsurs eadun whmb Hwrnu eefuglie

BeoL LU L g

D), Reunmiet sigiablsreney.
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171.

172,

Which one of the following statements ié correct ?

A) Fair wage is lower than the minimurm wage

B) While fixing minimum wage, the financial capacity of the employer to pay
is irrelevant '

C) Living wage is between minimum wage and fair wage

D) - None of these. . -

o auprusmed FL L SSen Lip a1z sflweoew ?

A)  @bs 5L b g 3000 LIgE FbUSTD GUIUAIHSEGD CUIhESID

B) 3 wis Py e Car@ss Res L sslen asrsgmssame azneug
Bmieusrysefies LiewflyfueumaE Qunmigionmy Clslweoms

C) Qgmfler venflureniv sstiueur @ppgeuflen aunfasemens snmbd

D) psewrell emflusens snGeremsownabeun isvevg ussflyfusimenw
curud) sensdlCeon Clegisseonbd.

Which one of the following is not true under the Payment of Wages Act ?
A} . The wage limit for the applicability of the Act is Rs. 3000 per month

B) - The State Government by giving 3 months notice extend the provisions of
the Act to any class of persons in any establishments specified by the
State GGovernment '

C ‘Employed person’ includes the legal representatives of the deceased
employed person

D) Wages can be paid by the employer either by cheque or by credmng the
wages in the employed person’s bank account,

G@OpESULE eerdlw SULIb 1948 6t £ syiieunemeny Huroemd Glewueuir wnk ?
A)  shUBsSOULL TS B) seonefl
C} Qgnfleonefl D) Beupmyer 1z blsoened.

Who is the appointing authority for inspectors under the Minimum Wages Act,
1948 ? '

A}  Appropriate Government B) Employer

Q) Employee D)  None of these.
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173. utigued I @ ulnued I eidér Cuimsdl, £0p OCar@astulGeren

GO scmms Qaran@® eflwner e ews CaEGSE: :

UL iquied I

Hifley 8 Sgndlus sl b

Wfley 10 Sgpdlwé &b

9fley 11 BandHws s Lib

Hifley 19 Bgndwé ¢ Lib

b
4

2

1

)
b)
c)
d)
@a_ﬂu?@adr :
a
A) 3
B 1
Cj 2
D) 1

2

4

3

3

4.

3.

U igwed 11
Bardlwib euwpnis &red sueny
Sifls blems Sgndlund
Bgndlu QupSSEGSH
GODES Bgnwib.

Match List I with List II correctly and select your answer using the codes given

below :.
a)
bj
c}
d)
Codes :
a
A) 3
B) 1
c) 2
D} 1

xf4001]

List I

Section 8 of the Bonus Act

Section 10 of the Bonus Act

Section 11 of the Bonus Act

Section 19 of the Bonus Act

SN

[1401]

LN

List 11
Time limit for payment of bonus
Payment of maximum bonus
Eligibility for bonus

Payment of minimum bonus.
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174, uigueé 1 g utigue II ot Quipssd. S0 Qar@ssuu(Hener
GAIGaaneas Qanan® sflwner elenLemwg CarEos® :

w

UL iqued I
SpUIeuner.
eerSluisneSens
Bliesorul 5560
M;é]luﬂ) SULPMIG
Qlurpyuy
Cousmeoulied aimHms
HAlwrgssred @enmiiy.

List II

" Inspector

Fixation of wage-
periods

Responsibility for
payment of wages

Deductions for
absence from duty.

U iguwied 1
a) Yifley 3 eardlwid euPrusey &L i b
b)  Afley 4 earfluid surised FL L b
c) Bfley 9 esrdluib euprused FL_LLb
d)  Uifley 14 el eupruss) FU_L 1D
GoluSE s :
a b e d
A) 3 2 4 1
‘B) 1 2 3 4
c 2 1 3 4
D) 1 2 4 3. |
Match List I with List II correctly and select your answer using the codes given
below :
List I
a) Section 3 of the Payment of Wages Act
b} Section 4 of the Payment of Wages Act
c) Section 9 of the Payment of Wages Act -
dj Section 14 of the Payment of Wages Act
Codes :
« b c d
A) 3 2 4 1
B 1 2 3 4
C) 2 1 3 4
D} 1 2 4 3.

(4361
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175.

176.

65 : MASN

geaiQanm - CemfeoreflaEn Bl eodund  peenafluted  aupmsiiuL
Cousim®mOlwsimney esrflwéd sl gdleor S, oeul by  eumLSH
@oOnhsuLsb Geumer Qaig Bmss Ceoetmgw Hr_sen
A} 15 Brsei B} 30 pro_sen
C). . . 60 Brl e ‘ ) 75 BAL &S,

Every employee should be entitled to be paid by his employer in an accounting
year, bonus, in accordance with the provisions of the Act, provided he has

worked in the establishment for not less than

< A) 15 days B) 30days

C) 60 days ' - D) 75 days.

eerflin  yefsEed sLLD 1936 e Sp  (pseonafluremeui  SemguenLw
Adlerrsens spLuehiy Gewwesomnon eadlunb CarHug sbubgwrs ?

A) b, ssul uusfiuy Qewweomb

B) @, gt guuailoy Qs ipigwing

c) gL wreng Deu eNapwsdled HemwHuns o creng)
D) @mg)gsh s1gla N evemen.

Whether the employer under the Payment of Wages Act, 1936 can delegate his

power to other persons in respect of payment of wages ?
A} Yes, he can delegate

B) No, he cannot delegate

Cj The act is silent in respect of the above matter

D}  None of these.

. Gonpsuls eadlusdenen Biswmmub QEwrueut walr ?

A)  (pgeorefl B  5@6S Sire

C} "~ Cuweomeni D) Spuieunemi,

Who is the authority to fix minimum wage ?

A) Employer B) Appropriate Govt,

Q) Manéger ‘D) Inspector.
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178. Alsmaimeusmeupmien aig sflwneng ?

A} eonisule emfub Hicwb CQelun Qurwg (waeorsflulish Lemrd
Qar(hiéEb Hnemen semsdle aBisms Carsrmg Caomeauuiisens

B) wewib Qesrhis@h Spenen samsde Canden CausinBib

Cj uemtd Gl&T(Hi&@ b Sinsh LGS weney .sr(b\g,g]& Claneren Geuetmr(Hid
D) @eubmist srgieyllevane. -
Which one of the following statements is correct ?

A) While fixing minimum wage, the financial capacity of the employer to pay
need not be taken into account '

B} = It must be taken into account
C) It must be partly taken into account
D) None of these.

179. 2mdlub eupru@b sLl.Lb 1936 6 Ly LTSS Ggtamsuliamer GluneugHaTen

SI60th 7

A) 30 prser : B).. 60 BrLsen

C} 90 mrL&sn - D) 120 ;rj,m'_assh.

The time prescribed for recovery of fine imposed under the Payment of Wages
Act, 1936 is '

A) . 30 days : Bj) 60 days

C) 90 days ' D) 120 days.

180. Yenaumeusmeupmien 618 #Mwrs Qunmbseleoramne 7

A) Bgidlwé s 1b : — 1965
B) uenl&Qsren. sl b ‘ — 1972
C) Qgmfleonens uif B sl — 1926
D) esdlub eupru@sed sLLID . —  1936.

Which one of the following is not a correct combination ?

A) . The Payment of Bonus Act '\ — 1965
B)  The Payment of Gratuity Act . — 1972
C) The Workmen’s Compensation Act —_ 1926

D}  The Payment of Wages Act — 1936.
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181. Slemeugmeusmeunmien 618 sflwrs Qun@hgdng ?

A)
B
Ci

D)

GmDHESULE eudlué s b | —
eorSltb cuPRIGD §L_L1b _
Qgnfih s&sra &L L b | _
GEms Qgnfleoner _
( sEUY LHDID GUEBMEPD L L 1b )

Which one of the following is correctly matched ?

A)
B)
C)

D}

The Minimum Wages Act
The Payment of Wages Act
Industrial Disputes Act

The Child Labour ( Prohibition and Regulation ) Act

1948
1934
1946

1985.

MASN

1948

1934

1946

1985.

182. Aemswdus slib eurs, Blosudub o  SpLUmLET0

Qar@sasiiul g ?

A)

Q)

Prior to the payment of Bonus Act, bonus was given according to the

A)
. B)
C}

D)

('y)g?sorrsrﬂuﬂ'sir eflmuutiug B}  indlett efl(pliuiLg

nLgGengl Clunnse) D) Qamnfleorefiufsh snl B Cuid,

discretion of the employer

discretion of the gbvernment

availability of profits

bargaining capacity of the employee.

183. &mm@mmmmysﬁ 618 e flwusHed mbg SPsEELLEL SIS sEmsIuGADE ?

A)
B)
S

. o

@opbs Lgeliame Bipbs eardub

félwsamsdlen gememTiLg GDSsLUL L eerdlub

shanele uenfl Bsagsner Bihs esrdlunb

e fluihég HlenL s Couahrgw ueanf! 2 wime: FinisH emeugged.
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Which one of the following shall be deemed to be a deduction from wages ?

A) Loss of wages due to reduction to a lower post
B) Deductions rcquired to be made by order of a court
C) Loss of wages due to suspension

D}  Withholding of promotion due to a peréon.
184. pwé&E sSHOUNWPEH 2afub apsm euenswns o steng. Ulsteumeusmaibp)er
esflurusen  Caremfwdlesnr  sigliuemLled  sfwrer  @phg  aflensull
IO WHHG 615 ?
) Bunw exdlwib, ampsaySlwb, GmpnhaLL e eadluib
B) (sonbsuls eadlwib, Gwny serdluib, mrf:a'p%,é,]u.ilb
C)  aunpapSub, Hunu eadwub, GepHoULs eedub
D) Hwiw ssrSunb, GeonhsuLs 2w, ampapdu.

We have now three types of wages. Identify the descending order in which they
appeared : 7

A) Fair wage, Living wage, Minimum wage
B) Minimum wage, Fair wage, Living wage
C) Living wage, Fair wage, Minimum wage
D.) Fair wage, Minimum wage, Living wage.
185. SlemeumeusteumhmieT s1&alelinG awpsal epeownen e gsrea) Comeaiuiisoeney ?
A) - et sr0lSlighE Cegisstiu@on NflBwon
B) OQsnfleonenit srusgSine Oeaussuupn Qgrens
C) o ememrd amwﬂq&@é,@, G‘Igﬁlﬂd}qﬂusﬁfwsﬁ Qegggb Qgmle eufl
D) Yrgwien Gsdlw Beanrenr fHssns Qemssb Qsremes.
Which one of the following does not require written authorisation for deduction ?
A}  Payment of any premium to the life insurance policy
B) Payment of fees by the members to his union
C) . Payment of professional tax by the employed person to any local authority

D) Payment to the Prime Minister’s Nationai Relief Fund.
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186.

187,

188,

69 - MASN
Neeuptd eBE  upsdled 2 &F Edlosmmip  Bwmny estflu N6 g
aunpeyHwusdinen, @mpbsuls eafusdlbEd BeL LUl LsNEL e
GO Beneng ? | '
A) a&sfoﬁﬂqa’u Bluyeiv Guirui ( NenrGeau ) eMACILL eupdi@
B)  Wgmmi snlieh Bleosh B suipdis '
C) Camrafignni Slestsv SlenrGeaul eSIBIGIL L suysE,
D) et euinl ifebsiv NemrGeull sNNGIL L cuipd (s,

In which one of the following cases Supreme Court has observed that the ‘fair
wage is a mean between the living wage and the minimum wage’ ?

A) . Express Newspapers [ Private ) Ltd.’s case
B) rBijay Cotton Mills Ltd.’s case

C) Kchinoor Pictures Pvt Ltd.’s case

D)  Edward Mills Co. Pvt. Ltd.’s case.

efluib sulpriEGb (WEeitend QunmUiy wrenT Fr@m ?

C A} weeons B) @lruﬁlsi;(‘asu Bliicunsn

C) sewmaremlourent . D} Gusoneni,
Who is the authority mainly responsible to pay wages to persons employed ?

A) Employer B) Railway administration

C) ‘Supervisor - D} Manager.

Bendwus s LsHeo ez NMeler yflgns Comppelssnuc L Hpeusrhsmea
b @HuSLur Renenrg ?

A} Yifley 13 B) dfley 14

C} 9fley 15 D) Sfley 16.

Under which Section, special provisions with respect to newly set-up
establishments is mentioned in the Payment of Bonus Act ? '

A) Section 13 B}  Section 14

C) . Section 15 D}  Section 16.

x[4001] : 1401, [ Turn over



MASN

189. ulkyweéd I

70

utigwed II e e Quimsdl, £C0p Car@asssul Hsten
eHlGamas Garan® sfune sdensowg Caibbis® :

.1-
2.
3.

4.

UL iguisd II
Bgndwib Glum
STEV6UEHT
iﬁ’gng,lwtb Llup sEF
Suoy
wpgeonefludli_ B miba)
BSgrdlwd Sumeug

ULPEGEULPSHS
Bgrluslestmns)
aibley.

List II

Time limit for
payment of bonus

Disqualification for
bonus

Recovery of bonus
due from an employer

Deduction of
customary bonus.

UL iguwed I
ca) Y9fey 9 Sgndlwé sl b
bl Gfley 17 Serué sl b
c) Sfley 19 Bgrdws s b
d ey 21 Sgrdlws el
GEBIBIs6ir :
a b c d
Ay 2 3 1 4
B 2 4 1 3
c) 1 2 3 4
D) 3 4 2 1. _ |
Match List I with List II correctly and select your answer using the codes given
below :
List I
a)  Section 9 of the Payment of Bonus Act
b) Section 17 of the Payment of Bonus Act
c) Section 19 of the Payment of Bonus Act
d) Section 21 of the Payment of Bonus Act
Codes :
a b c d
A) 2 3 1 4
B 2 4. | 3
o 1 2 3 4
D} 3 4 2 L.
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193.

- 194,

dat iy

The proposal for Central Legislation on Gratuity was discussed in Labour
Ministers’ Conference in the year ! ' ‘

%

A) 1971 . : B) 1972

C) 1970 : D)  None of these.
L‘i\mm@m abs enbm shuneng ? o f
A)  Ceongemen  Gupellen  (piyey @mmsgui_a mﬁ]m 5L.|_.§§1m @@ '
T ufipgienyungd
B) oCensemen @@sﬁsm ol GHOPHSULE mﬁlu} m'_l...gﬂe'd
&L MLILDT6BTS) ‘ '

C) Geonsenen @@mﬁls&r (g6 @m;p;s;uu& esrglw &LL_gﬁsb U@ﬁl'
ulﬂggjmqu.m@jm

D) Beupmier aglelloamen. ;
R

Which one of the following statements is correct ? ? S

A) The dec1sxon of the advisory board under the Minimum Wages Act 1S !

recornmendatory . . . 5;:; .

Bl  The decision of the advisory board under the Minimum Wages Act lS
mandatory E i

1

C}  The decision of the advisory board under the Minimum Wages Act is partly

recommendatory '

| D)  None of these, !
Bardw s L_sdlen Sp Bundlun aemiu@eug '
A)  Beon Bgndu B) smeewiy Ggrens
C)  ew&as56lzTams N D) Beubmyen ﬂgjﬁ).]Lﬂd)éDGi)._ !‘ ,
Bonus under the Bonus Act is regardéd as . '
A) Proﬁlt_bonus | | B) Ex-gratia payment
C) Incenti,velpayment D} .None of these. f ;

@&ximﬁsnsqu.su Q&n@asuu@m SFlsul s Bgnduib
A) albusngélm 20% | " B)  ebusssled 30%
C) sbumsHed 40% D) sbuemsgledr 25%.
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191.

192,

71 MASN

Ssireu@pld eusGaatled anbs eupsdle 2.ssbdlosnmid Qg,n@mnmn s (&
gt L sdlett Crréssans unn eSeuflggeneng ?

A)  M/s. sgien aQegsinedlen TN sl sybdlr wiBleo GlgmPeoreni
&1Ll (ms arruuCGreagper 1998 Lab IC 2008 ( AP)

B) ESIC aidli U160 acoust Gemm_iCrapemed 1993 ILLJ 939 ( SC)

C)  grweoLnsdev, perrung efi Qemfleorsti sruSL @ sriuuGrags AIR
1978 SC 1478 '
D) TVS &&dl Ggnfleonent weflwen o8k feflemed emirsit Ggmfleoneni
sl ® erriuGriaget.
Among -the following cases, in which case the Supreme Court explained the

object of the ESI Act ?

A)  M/s. Southern Agencies, Rajahmundry vs A.P. ESI Corporation 1998 Lab
IC 2008 ( AP) :

B) ESIC vs M/s. Hotel Kalpaka International 1993 ILLJ 939 ( SC)

C) Royal Talkies, Hyderabad vs Employees State Insurance Corporation AIR
1978 SC 1478

D) TVS Suzuki Employees Union vs Regionatl Director, ESIC.

Qgnfleonemi srnfl GE L Lb 1948 s £ aFr'r,g,. Wfleuneng Ggmfleonsui
anudL@ £lwenmb SUMSHE GG elurruseneT o sten_&d o eveng ?

A)  9fey72 B) fley 74
C) ey 76 . D) 9fey 78.

Which Section of the Employees State Insurance Act, 1948 contains provision
relating to the constitution of employees insurance court ?

A) Section 72 B)‘ Section 74
C) Section 76 : D)  Section 78.

uenll&Caren,. @Gflss wsHws sl (pen wrHA an@mwm SHEDOFEFT
gn_t_emwLidled sﬁlsung]a,&uuLL 2,687 (D)

A} 1971 B) 1972

C) 1970 D)  Beunpieh sigeyblévemns.
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ST nasH
“ ‘ JMaﬁimum bonus payable in an accounting year is
E _A) ; 20% of the salary B)  30% of the salary
. ﬁ 3 p) { 40% of the salary ' D)  25% of the salary.
.' . Ssrdlu auprissd FLLDb, 1965 e £ Sgndluib swaugharen g@ﬁuﬂdnmm&m
N @ﬁmﬁk-uum@uusi
ey A) g Sifey 9 - B) | 9fey 10
v *g Q) lﬁhﬂs:q 1 | D) ey 12.
?‘? .L bisqgallﬁcanon of bonus under the Payrhcnt of Bonus Act, 1965 is dealt under
X o ‘ Section 9 . B) " Section 10
Fﬁ i Er): : Section 11 | D) Section 12.
i 197 g]é,é}mmgg - wihHmb DEARICY Qém,g,sb Cam_un@aen
LI a.gnusmuu@gg,uuu_tq,@uugj ' ‘
) T' : A) sg,nsirrasnsugj au_:__msnsm B}  epshipreug i L euenenr
‘ C) @nsﬁm_rrmgj DI L6160 6581 - D) (yag,si) L6160 6T,
i*-: ’F The ;nnaple of set on and set off is illustrated in
. &: A]' : Fourth Schedule B) Thlrd Schedule
o i | c Second Schedule . .D)  First Schedule.
o 198. e é.blu @58nd @Hss LABsIPrEsILLLg)
‘ !:f A]f : lﬁlsmaﬂ SIBQIL L szt igstr Clgmfleonsmiash
. l‘!ll‘“:i B)-; ': Lﬁlsu TN Llﬂmmwnmuﬁm FRIGD s187 rreisig Mw lﬂs\) WG Flistd
'i I .C)i‘: 1 a@eu&ﬂ(zwu_i_ ALY &'sl.bQLJﬂ'ﬂ&xdT st Qgnfleonenimen
) # i _ [3');'!E éeosin 15.Crqi sw6luafl a8l Bl weavghi Fhisb.
s _ ! Full bf;nch formula is observed in
}E‘ :i - A)-_:; émny Ltd. vs thelr workmen
= ;% I' ;- B) : Mﬂl Owners Association vs Rashtnya Mill Mazdoor Sangh
B ;:;somated Cement Companies vs Workmen
Ji\lan Trading Co. vs Mill Mazdcmr Sangh. ’ S
Ly |
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199, Serdut Qer@uugnhane s@Hullstenn RPRS
A)  Guneg |
B) sevsb Osis60 g usipeonuilesd mOLL g HSS60
0 Hord
D) Hemeu amsm_‘r,@&.

Disqualification for the payment of bonus is

A) Fraud
B} Riotous { or } violent behaviour
C) Theft

D)  All of these.

200. QgnfievneTisdr sneuliys ansm_a;u_[gsbf"@mm,r_'r,g, sruSL.(s S Pamgsd
Qar@aEh Crrsasdnans e (amsasliL g ? '

A) 2 L6 mevetr &Sl () Lwesrun®

B} WwHSGeu &0 uwsun)

Q) spwer amnI_ () uwstrun(®

D) @abmer agebme.

Deposit Linked Insurance Scheme was {ramed for the pur;;osc of giving
A) health insurance benefits

B} medical insurance benefits

C) life inurance benefits

Dj none of these,
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Booklet Series . | - A - Register |
Number

2011
SOCIAL SCIENCE & LABOUR LAW

Time Allowed : 3 Hours | ‘ [ Maximum Marks : 300
Read the following instructions carefully before you begin to answer the quelﬁonl.

IMPORTANT INSTRUCTIONS
1. This Booklet has a cover ( this page ) which should not be opened till the invigilator gives signal to
open it at the commencement of the examination. As soon as the signal is received you should tear

the right side of the booklet cover carefully to open the booklet, Then proceed to answer the
questions.

This Question Booklet contains 200 questions,
Answer all questions, All questions carry equal marks,

4..  The Test Booklet is printed in four series e.g. or @ (See Top left side of this page).
The candidate has to indicate in the space provided in the Answer Sheet the series of the booklet.
For exarn}ile, if the candidate gets series booklet, he/she has to indit_:aie in thé side 2 of the
Answer Sheet with Blue or Black Ink Ball point pen as follows :

B (8iici(D]

5. You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet. :

6. An Answer Sheet will be supplied to you scparately by the Invigilator to mark the answers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluated.

7. You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to
encode the above information, your Answer Sheet will not be evaluated.

B. Each question comprises four responses (A), (B), {C} and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

9. In the Answer Sheet there are four brackets [A] [ B ] [ C ] and | D | against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one queséion, the answer will be treated as
wrong. e.g. If for any item, {B) is the correct answer, you have to mark as follows :

(A1 [C]([D]

10.  You should not remove or tear off any sheet from this Question Booklet. You are ngt allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed Lo take the Question Booklet with you only after the Examination is over.

11.  Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Commission may decide at their discretion.

12.  In all matters and in cases of doubt, the English Version is final.

13. Do not tick mark or mark the answers in the Question Booklet.
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